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Question Number : 1 Question Id : 7532295464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five usual dice are thrown on the ground. The total of numbers on the top faces of these five dice is 20 as the top faces showed 5, 4, 2 and 3, 6
respectively. What is the total of the faces touching the ground?

Options :
1. % 20
2. %22
3. % 17
4.+ 15

Question Number : 1 Question Id : 7532295464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20

2. % 22

3. % 17

4.9 15

Question Number : 2 Question Id : 7532295465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following four words are alike in a certain way and one is different. Pick the odd one out.
Options :

1. * Pleasing

2. * Charming

3. * Attractive

4. ¥ Nasty

Question Number : 2 Question Id : 7532295465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hifde

2. % HAYHIAA

3. % TR

4. ¥ YUIRAS

Question Number : 3 Question Id : 7532295466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A earns $18.5 per hour and has worked 40 hours. B earns $21 per hour. Approximately how many hours would B need to work to equal A’s
earning over 40 hours?

Options :

1. * 28 hours
2. #* 31 hours
3. % 35 hours
4. * 42 hours

Question Number : 3 Question Id : 7532295466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 28€C
2. % 316C
3. ¢ 354¢
4. % 429C

Question Number : 4 Question Id : 7532295467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mangoes cost 12 each and bananas costs X7 each. Reshma spends a total of X123 on these fruits. Find the number of mangoes purchased, if the
number of bananas purchased is the square of 3.

Options :
1. % 6
2.¥5
3.% 7
4. % 4

Question Number : 4 Question Id : 7532295467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %6

2.¥5

3.% 7

4. % 4

Question Number : 5 Question Id : 7532295468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an intermediate direction?
Options :

1. * East

2. % North

3. ¥ South-East

4. * West

Question Number : 5 Question Id : 7532295468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed o 9 o= te gegadf fgm g2
Options :

1. % gd

2. % 3

3. ¢ & - gd

4. % gy

Question Number : 6 Question Id : 7532295469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Atul is facing towards the East. He turns 270° to his right, then he turns 90° left and again he turns 135° right. In which direction is he facing
now?

Options :
1. % West
2. ¥ North-East
3. % South-East
4. ¥ North-West

Question Number : 6 Question Id : 7532295469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Uigm

2. ¥ FW-Td

3. % gfgor-gd
4. % IR - UigH

Question Number : 7 Question Id : 7532295470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

United Kingdom : London :: Egypt : ?
Options :

1. ¥ Cairo

2. # Baghdad

3. % Tehran

4. % Tstanbul

Question Number : 7 Question Id : 7532295470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ BIQ

2. % dlalq

3. % dgIH

4. % TGS

Question Number : 8 Question Id : 7532295471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(98, 42, 56)
Options :

1.9 (12,8, 4)

2. % (18,25,7)
3. % (162, 62, 43)
4. % (25,19, 32)

Question Number : 8 Question Id : 7532295471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(98, 42, 56)
Options :

1.9 (12,8, 4)

2. % (18,25,7)
3. % (162, 62, 43)



4. % (25,19, 32)

Question Number : 9 Question Id : 7532295472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are given, followed by two conclusions, I and II. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:
Some roses are red.
Some flowers are roses.

Conclusions:
I. Some roses are blue.
II. All Flowers is red.

Options :

1. * Only conclusion I follows

2. * Only conclusion II follows

3. # Either conclusion I or II follows

4. # Neither conclusion I nor II follows

Question Number : 9 Question Id : 7532295472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 10 Question Id : 7532295473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct combination of mathematical signs that can sequentially replace the * signs from left to right to balance the following equation.

14*5%*3*24*6*25
Options :

1. % 4+ — + = x
2. % — & =+, X
3.V + x,— =+ =
4. % 4 + - x, =

2 2

Question Number : 10 Question Id : 7532295473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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14*5%3*24%6*25
Options :

1.%¥ + — +, =X
2.8 — 1 =+, %
3.9 4+ x, — + =
4.8 4+ — %, =

9

Question Number : 11 Question Id : 7532295474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct combination of mathematical signs that can sequentially replace the * signs from left to right to balance the following equation.

2K 4*7*2%*3%2
Options :

1. % 4+ — + =X
2.9 4 = = X, —
3% 4 x,—, =
4. % + = — X =

9

Question Number : 11 Question Id : 7532295474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2¥14*T*2%3%*)
Options :

. % + — + =X
2.9 + + = X —
3.% + X, — 5 =
4. % 4+ = — X =

9

Question Number : 12 Question Id : 7532295475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will replace the question mark (?) in the following?

(12, 156, 13) (19,2, 8) (7, 77, 11)
Options :
1. % 112
2. % 135
3. % 145
4.9 152



Question Number : 12 Question Id : 7532295475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(12, 156, 13) (19, 2, 8) (7, 77, 11)
Options :
1. % 112
2. % 135
3. % 145
4. ¥ 152

Question Number : 13 Question Id : 7532295476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two numbers should be interchanged to make the given equation correct?

22+4+6x2-12=23
Options :

1. ‘4> and 2’

2. % 22 and ‘12’

3. % ‘4’ and 23’

4. % “12” and ‘23’

Question Number : 13 Question Id : 7532295476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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22+4+6x2-12=23
Options :

1.¥ 4 3R




2. % 20 3R 12
3% 4 3R 23

4. % 12 3R 23’

Question Number : 14 Question Id : 7532295477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will replace the question mark (?) in the following?

(441, 484, 529) (576, 7, 676) (729, 784, 841)
Options :
1. ® 605
2.9 625
3. % 636
4. % 666

Question Number : 14 Question Id : 7532295477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A IRt & Uears g (2) % WM RS- Ter smuf

(441, 484, 529) (576, ?, 676) (729, 784, 841)
Options :
1. ®= 605
625
636
666

" i('c-\

2
3.
4

Question Number : 15 Question Id : 7532295478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option represents the correct order of the given words as they would appear in an English dictionary?



1. Deputation
2. Destination
3. Depressed

4. Destabilize
5. Despicable

Options :

1.% 3,1,2,4,5
2.% 3,5,1,4,2
3.93,1,5,4,2
4. % 3,52,4,1

Question Number : 15 Question Id : 7532295478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1.Deputation
2.Destination
3.Depressed

4.Destabilize
5.Despicable

Options :

1.% 3,1,2,4,5
2.% 351,42
3.3,1,5,4,2
4. % 3,52,4,1

Question Number : 16 Question Id : 7532295479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure from among the given options that can replace the question mark (?) in the following series.

: “ b---lrh :

Options :

Question Number : 16 Question Id : 7532295479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 17 Question Id : 7532295480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Following graph shows the sale of car by Honda and Maruti company in different vear.

%0
80
80 75
@ 70
@ = 63
% i 57
<
3 i as i
S %0 42
=
>
= 26
= 30
3 20
[¥' 9
© 10
2 o
1990 1991 1992 1993 1994 1995

m HONDA = MARUTI

What is the total sale of car by Honda company in 1991 and 1992 year ?

Options :
1. ® 125000

5 & 135000
3 % 135788

4 % 145000

Question Number : 17 Question Id : 7532295480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 125000

5 & 135000
3 % 135788

4 % 145000

Question Number : 18 Question Id : 7532295481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the number of Squares in the given figure.

Options :
1. ® 25

LS}
L

2. 8

L
L

4.9

Question Number : 18 Question Id : 7532295481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 25

h

> #® 3

3 # 40

n
h

4. ¢

Question Number : 19 Question Id : 7532295482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are shown below. Identify the number at the bottom when the number at top is 1.

Options :
.¢ 3



Question Number : 19 Question Id : 7532295482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¢ 3

Question Number : 20 Question Id : 7532295483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the given figure X is embedded (rotation is NOT allowed).

1B

Options :
1. #
2. %

3. ¢



4. %

Question Number : 20 Question Id : 7532295483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. ¢
4. %
General Awareness
Group Number : 2
Group Id : 753229286
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 753229286
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229345
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532295484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states has no scheduled tribe as per census 20117
Options :

1. ® Mizoram

2. % Nagaland

3. ® Kerala

4. ¥ Punjab

Question Number : 21 Question Id : 7532295484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % fioiRe
2. % TATS
3. % P
4. ¥ UNd

Question Number : 22 Question Id : 7532295485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India’s population according to Census of India 2011?
Options :

1. # Approximately 119 crores

2. % Approximately 125 crores

3. ¥ Approximately 121 crores

4. % Approximately 123 crores

Question Number : 22 Question Id : 7532295485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % THT 119 PRIS

2. ® THIT 125 PRIS

3. ¢ TAHT 121 BRIS

4. % YT 123 RIS

Question Number : 23 Question Id : 7532295486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The revenue system introduced in the Bombay Deccan in 1820 came to be known as the
Options :

1. ¥ Ryotwari Settlement



2. ®* (Colonial Settlement
3. #* Permanent Settlement

4. # Revolutionary Settlement

Question Number : 23 Question Id : 7532295486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gAaTS! saled!

2. % 3NUfAfIe daiawd

3. % R eledl

4. % HifdpR] dalawil

Question Number : 24 Question Id : 7532295487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Election Commission of India formed?
Options :

1. % 1945

2. % 1954

3. % 1957

4. % 1950

Question Number : 24 Question Id : 7532295487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol 3 3 forg au o yRdrg Fafad S &t Rig=1 &1 152
Options :

1. % 1945

2. % 1954



3. ¥ 1957
4. % 1950

Question Number : 25 Question Id : 7532295488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding Black soil are correct?

(a) Black soil is also known cotton soil and Regursoil.

(b) The soil is rich in iron, lime, calcium, potash, magnesium .
(c) The soil has high water retaining capacity.

(d) The pH of black soil is 9 - 10.

Options :

1. # (a), (b) and (d)
2. % (¢), (b) and (d)
3.4 (a), (b) and (c)
4. % (a), (c) and (d)

Question Number : 25 Question Id : 7532295488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(d) BT ST BT pH 9 - 10 BT B

Options :

L. ¥ (a), (b) 3R (d)

2. % (¢), (b) 3R (d)

3. ¢ (a), (b) 3R (c)

4. % (a), (c) 3R (d)



Question Number : 26 Question Id : 7532295489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pandit Shivkumar Sharma is known for which of the following musical instruments?
Options :

1. # Tabla

2. ¥ Santoor

3. % Veena

4, % Harmonium

Question Number : 26 Question Id : 7532295489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UfEa Riagpar wwi e & § feg am g7 » R ulis &
Options :

1. % ddcil

2. ¥ IR

3. % g

4. % RUMTH

Question Number : 27 Question Id : 7532295490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the famous "Buland Darwaza" situated?
Options :

1. # Delhi

2. % Fatehpur Sikri

3. % Aurangabad

4. ¥ Hyderabad

Question Number : 27 Question Id : 7532295490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TR "geiG aRaTT" Bl R 82
Options :

1. % ool

2. ¥ g R Al

3. % JRATETG

4. % gaxIeTa

Question Number : 28 Question Id : 7532295491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The novel "The God of Small Things" was written by which of the following authors?
Options :

1. % Vikram Seth

2. % Amish Tripathi

3. % Arundhati Roy

4. # Ashwin Sanghi

Question Number : 28 Question Id : 7532295491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fapH 93

2. % 3y st

3. ¢ el R

4. % 3y It

Question Number : 29 Question Id : 7532295492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Agriculture is the primary source of livelihood for about Indian's population.
Options :

1. % 65 per cent

2. % 58 per cent

3. % 20 per cent

4. % 35 per cent

Question Number : 29 Question Id : 7532295492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 65%

2.9 58%

3. % 20%

4. % 35%

Question Number : 30 Question Id : 7532295493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian woman dancer awarded with the prestigious ‘Padma Vibhushan?’
Options :

1. ¥ Tanjore Balasaraswati

2. % Sonal Mansingh

3. % Zohra Mumtaz Segal

4. # Yamini Krishnamurthy

Question Number : 30 Question Id : 7532295493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¢ JOIR STArR
2. % g AFRTE

3. % HIgRI YA Je7Tdl
4. % I oL

Question Number : 31 Question Id : 7532295494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gases is found in the highest amount in the atmosphere?
Options :

1. ¥ Nitrogen

2. % Oxygen

3. % Argon

4. % Carbon dioxide

Question Number : 31 Question Id : 7532295494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & -0 1 argHed § w31t 1 § Ut St 82
Options :

1. ¢ 1SS

2. % o

3. % 3

4. % PHIa- SZATIISS

Question Number : 32 Question Id : 7532295495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fully hydrogenated fatty acids are called
Options :

1. % Unsaturated fat



2. % Saturated fat
3. ®* Drenched fat
4. * Inundated fat

Question Number : 32 Question Id : 7532295495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qUid: g SoHId a8 3R Bl PRI Bl
Options :

1. % Wﬂ’lﬁ ddTl (Unsaturated fat)

2. W ddT (Saturated fat)

3. % T §2 T (drenched fat)

4. % SAw@rdd 991 (inundated fat)

Question Number : 33 Question Id : 7532295496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which festival of south India, mythical king Mahabali is said to come to check on the wellbeing of his subjects?
Options :

1. % Pongal

2. # Thrissur Pooram

3. ® Mysore Dussehra

4. ¥ Onam

Question Number : 33 Question Id : 7532295496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zf0T YRA & 5T ud & SRTE U1 HFT SITd @ b TRIfO ST HeTaet 301 USTT o1 HedTul 354 & fort 317d 82
Options :

1. % giTd

2. % PRR A




3. % IR SRR
4. 3UY

Question Number : 34 Question Id : 7532295497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the typically recommended sterilization temperature?
Options :

1. * 99°C to 100°C

2. ® 112°Cto 118°C

3. % 132°C to 135°C

4. % 200°C to 332°C

Question Number : 34 Question Id : 7532295497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafiRad § Q B 1 IR WR fahHu duaHH 22
Options :

1. % 99°C ¥ 100°C

2. % 112°C ¥ 118°C

3. ¢ 132°C ¥ 135°C

4. % 200°C F 332°C

Question Number : 35 Question Id : 7532295498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for Kancheepuram Silk Saree?
Options :

1. % Tamil Nadu

2. # Mabharashtra

3. % Assam



4. % (Qdisha

Question Number : 35 Question Id : 7532295498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafrad Ioat § ¥ B 1 HigRA W Wil & forg ST ST 82
Options :

1. ¢ qfieTg

2. % HeRIY

3. % 3H

4. % 3fifg=m

Question Number : 36 Question Id : 7532295499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is the second largest public sector bank in India after merger of banks?
Options :

1. # State Bank of India

2. % (Canara bank

3. # Allahabad Bank

4. ¥ Punjab National Bank

Question Number : 36 Question Id : 7532295499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId & ¥ &1 91 d& dPi & [ & d1g URA BT gaR] Jad IS8T Aol & BT o & 77 82
Options :

1. ® YR ¥e dF

2. % BRI IH

3. % SAREIG db

4. ¢ UE A3Fd o F




Question Number : 37 Question Id : 7532295500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was popularly known as "People's President of India™?
Options :

1. ¥ Dr. A P J Abdul Kalam

2. % Dr. Sarvepalli Radhakrishnan

3. ¥ Ramaswamy Venkataraman

4. % Dr. Shankar Dayal Sharma

Question Number : 37 Question Id : 7532295500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed & 9 o diue IS e it SfSar & 319 I SFT Sirar U1
Options :

1. ¢ Sl UUI S 3fegd Bl

2. % ST Jaucd! AYTH U

3. % ARG dheTHA

4. % 3. B g1 TH

Question Number : 38 Question Id : 7532295501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Article 155 of the Indian constitution, who has the power to appoint the Governor of a State?
Options :

1. ¥ President

2. # Chief Minister

3. % Prime Minister

4. # Vice-President

Question Number : 38 Question Id : 7532295501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR & AU & TS 155 P AR, fHl I5T & Ioqurd &I Fgad & o1 e [ U g2
Options :

1. ¢ gufa

2. % THAT

3. % QY HAL

4. % 3uryufa

Question Number : 39 Question Id : 7532295502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Ministry of Youth Affairs and Sports initially established as the Department of Sports?
Options :

1. # 1981

2. 9% 1982

3. % 1983

4. % 1984

Question Number : 39 Question Id : 7532295502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gal HRAGH R WA HATT P L= # Wd [qUTT & =0 § e R foear mar um
Options :

1. * 1981

2. ¥ 1982

3. % 1983

4. % 1984

Question Number : 40 Question Id : 7532295503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many kilograms of manganese is required for manufacturing one ton of steel?
Options :

1. # Nearly 2-6 kgs

2. ¥ Nearly 6-9 kgs

3. % Nearly 16-20 kgs

4. ¥ Nearly 26-30 kgs

Question Number : 40 Question Id : 7532295503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS oA KId & (A0 & e fosae foraiam Hie &1 STa=adhdT gial o7
Options :

1. % T 2-6 oo

2. ¢ TIHI 6-9 Tb o

3. % TIHIT 16-20 b3

4. % T 26-30 ToUT

Arithmetic Ability

Group Number : 3

Group Id : 753229287
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability



Section Id : 753229287

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229346
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532295504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During clearance sale, a dealer announces a discount of 6%. What is the ratio of marked price and sale price of the

dealer?
Options :
1. % 3:50

[\
#
Lh
=
Lkd

Question Number : 41 Question Id : 7532295504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



[Tl fashl & SR, Teb SITR 6% $I B¢ &1 91U D g | SIoR GRT 3ifhd Hed AR feieh! Ged BT 2 u1d
fopaT 82

Options :

| % 3:50

» % 50:3
3 % 47:50

4.« 50:47

Question Number : 42 Question Id : 7532295505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During Thanksgiving week, the discounts given on a printed wallet are 20%, 12.5% and 5%. What is the total
percentage of the discount?

Options :

1 ® 38.80%

Question Number : 42 Question Id : 7532295505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YdIe Y8 & SR, U Hiad S¢U WR G115 B 20%, 12.5% HR 5% 81 BE Pl Ha YA fabal 82

Options :
1. % 38.80%

5 % 38.95%

3 & 33.5%

Question Number : 43 Question Id : 7532295506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a software company, 65% of engineers are less than 20 years of age. The number of engineers more than 20 years of

. 2 . A i 2 ; .
age is = of number of engineers of 20 years of age which is 42. What is the total number of engineers in the software
3

company?
Options :
1 % 400

5 % 300

Question Number : 43 Question Id : 7532295506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U HIFCATR HUl H, 65% Soll-1aR 20 99 U HH A b &1 20 I U HH {1 & Soll-1R] Bl TReAT 20 Y Bl
31 P FOERY, Sl 42 %, 31 U 1 2 §| e dwR Hul # SolliR] 3l p de 4 g2

Options :
1 ® 400

Question Number : 44 Question Id : 7532295507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit seller had some apples. He sells 40% apples and still has 480 apples. Originally. he had apples.
Options :

1. % 820

> # 700
3 « 800

4 % 900

Question Number : 44 Question Id : 7532295507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U B [qehdl o U $6 99 4| 3T 40% Ug 9 [T, 2R 3G UMY 480 Y§ Y g | 39 U9 Gol &9 H b
g 7

Options :
1. ® 820

> # 700
3 & 800

4 % 900

Question Number : 45 Question Id : 7532295508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shyamlal is a cold drink distributor. He sells ILtr Cold drink bottle for 245 and 2 Ltr bottle for Z80. He earns a

commission of 4% and 20% on the price of | Ltr and 2 Lir bottles respectively. How much commission will he earn in

one week if he sells 10 pieces of 1Ltr bottle and 6 pieces of 2 Lir bottle a day?
Options :

1.+ T798

> % 708

3 % %700

4 % %800

Question Number : 45 Question Id : 7532295508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YA, Bics (S5 [AeR® ¢ | 98 | Ak a1 dics [S& alad Bl 245 H 37R 2 dieR a1 Pics (& siad &l 280 |
ST g | I8 HHT: 4% 3R 20% B HHIRM 3ffoid Hal g | gfe g8 ufdfed 1 diex ardl 10 didel 3R 2 dieX arell 6
el S9d1 €, 11 98 U I8 H fora1 SHieM 24fofd s

Options :
1.« T798

» % T708
3 % %700

4 % %800

Question Number : 46 Question Id : 7532295509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of the number of boys and girls in a college is 7 : 8. If the percentage increase in the number of boys and girls

be 20% and 10%, respectively, then what will be the new ratio of girls to boys?

Options :
1. % 20:19

) % 21:22

3. 22:21

Question Number : 46 Question Id : 7532295509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Udh Shlciol H, TS SR Trsichdl ol S Bl HIUId 7 : 8 8 1 TG TSl 3R Tofddl ol S H HHR: 20% HR
10% o1 UTa=1d 9 Bl 8, Al TSl 3R Tgh! &I 441 SUId [T g

Options :

1. % 20:19

o % 21:22

3. & 22:21

Question Number : 47 Question Id : 7532295510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In an examination, the ratio of passed candidates to failed candidates was 7 : 2. Had the 20 absentees also appeared for

the examination, and half of them failed. the above ratio would have been 9 : 4. Find the number of candidates that

initially appeared for the examination.

Options :
1. ® 20
2.¢ 45

3. % 70

4 % 60



Question Number : 47 Question Id : 7532295510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foft oteqm &, Sitof afienfifar siR il wtenfifat &1 ergura 7 2 un) afe srufeE e
arel 20 WMt gdien o wfid g eld iR 399 § Si1e vl 6 gid, dl SWIad urd 9 : 4
g | Udten ¥ XR= § Iuflyd udienffa 35t e g L

Options :
1 ® 90

7 45
3 % 70
4. % 60

Question Number : 48 Question Id : 7532295511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the compound interest on ¥9.000 in 2 years when the rate of interest for successive years is 10% and 12%

respectively.
Options :

| % 1,288
5 & 32,088

3 % 2,588

4w T4,256



Question Number : 48 Question Id : 7532295511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

> G H 29,000 TR Fchgle SAT! 1 TUFT DY Ofd shiHdh Tu[ ob (07T SIS B &Y HHRT: 10% IR 12% Bl |
Options :
| = 1,288

5 o 22,088
3 % 2,588
4w T4.256

Question Number : 49 Question Id : 7532295512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of a trapezium with parallel sides 10 cm and 6 cm and distance between parallel sides being 5 cm, is:
Options :

| % 60 square cm

) ® 50 square cm

3 40 square cm

4 % S0 square cm.



Question Number : 49 Question Id : 7532295512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 cm HR 6 cmmﬁiﬂ?w\?ﬁﬂﬂﬁ HHId dggﬁﬁ%ﬁﬁﬁlﬁﬁww Wﬁ%@ﬁﬂﬁ@* cm
gl

Options :

| % 60 square cm
> % -0 square cm
3 40 square cm

4 % S0 square cm.

Question Number : 50 Question Id : 7532295513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An aeroplane flies along the four sides of a square field at the speeds of 150, 250, 300 and 500 km/h. Find the average
speed of the plane around the square field.
Options :
1 % 180 km/h

7 % 200 km'h
3 % 235 km/h

4 « 250 kimm'h



Question Number : 50 Question Id : 7532295513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U gdlg olelsl Ush ol & 9R[ 3R 150, 250, 300 AR 500 B/ B 71 ¥ Igal &1 G2 IE1 & SR galg ol
1 g TIfct J1d SifeTu

Options :
| % 180 fdHlHe

> % 200 fpHIECT
3 % 235 fdider

4w 250 fdl/der

Question Number : 51 Question Id : 7532295514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Excluding stoppages, the speed of a bus is 72 km/h and including stoppages, it is 60 km'h. For how many minutes does
the bus stop per hour?

Options :

1% 14

> # 8

3.¢ 10

4 % 12



Question Number : 51 Question Id : 7532295514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kol &l BISHR, Uh 99 DI 91d 72 km/h § AR LIS B! GHARTT B U SHD! 916 60 km/h g | 99 Uid €9
febc forte Eabdit 82

Options :

1w 14

3 « 10

4 % 12

Question Number : 52 Question Id : 7532295515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on 230,000 at 6% per annum is 23,780. The period (in years) is:
Options :

% 3

2. % 4

S
I

3.

Question Number : 52 Question Id : 7532295515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

730,000 P YRR W 6% TNMYD TS & Y YT Iehqia 4101 23708 8| e (q¥ H) J1d B

Options :

. ® 3

2. % 4

I

Question Number : 53 Question Id : 7532295516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the histogram given which represents the marks obtained by the students in an exam and answer the questions.

Frequency

20

10

10 20 30 a0 50
Class Interval }

Find the class interval whose frequency is 30.
Options :

| % 10-20

) % 20-30

3 & 30-40

4 % 40-50

Question Number : 53 Question Id : 7532295516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i feU 7Y fRe A o1 21T &Y, W Ueh UIe | B R Ui & a=iidl € 2R e fGu U usif 1 3w 2 |
‘f
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Options :

1. % 10-20

7 # 20-30

3 v 30-40

4 % 40-50



Question Number : 54 Question Id : 7532295517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following bar graph which represents the total strength of girls and boys in the government schools namely A
to L in a particular state for the academic year 2018-19 and answer the questions based on it.
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0 1000 2000 3000 4000 5000 6000 7000

The ratio of boys to girls was highest for which of the following schools?
Options :
1. # L

2'%:[



3. ¢ 1

4.% K

Question Number : 54 Question Id : 7532295517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR IR T AT T A T s v o8- 9 F T F R T F AT L F
T H AATRG WHNT Aot & asfeal 3R 5@ #1 FoT FEAr F AT g, A FHF IR

qy R 71T g9aT & 3ca¥ |

A B7
.} 576 5
¢ 2199 CEICT
o 1023 X
E BO3
F 1884
G 1604
H 4605
| 2744
J 3043
K ig44
11699
] 2000 4000 &000 BOD0 10000 12000 14000

346
433 qua'-'

T A B



c
F B65
& 1213
H 916
4002
40318
K 4453
6045
0 1000 2000 3000 4000 >000 G000 7000

fore Rezrera & rs=! 1 arsfhal | 3reera gad 3fee o

Options :
. % L

Question Number : 55 Question Id : 7532295518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given bar graph shows the number of runs scored by a team in each of the first six overs of a match.

16

14

12

10

8

6

4 | _ _

2 Il
0 - : :

Qver 1 Over 2 Owver 3 Owver 4 Over 5 Over &

How many runs did the team score in the sixth over?
Options :
1% 2

2.¢ 3

Question Number : 55 Question Id : 7532295518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o0 T8 SR W% § U 39 & Ugd @8 2M1a¥ H Ush ¢1H gRI ST 70 341 &1 T &1 UeiRid fear mr g
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Options :

o

o

-9

P

1 ® 2

2.4 3

Question Number : 56 Question Id : 7532295519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Correct the following expression to two decimal places.

3579+ 6
Options :
1. ®% 5.10

Question Number : 56 Question Id : 7532295519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafREad e &1 711 gl SXHdd RIFT A gl Jid HIfg|

3579+ 6
Options :
1. % 5.10

Question Number : 57 Question Id : 7532295520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the value of the following equation?

(0.67)*—(0.1)%]
[(0.67)2+0.067+{0.1)2

[

Options :
1% 0.066

]

5 % 0.66
3 & 0.57

4 % 0.057

Question Number : 57 Question Id : 7532295520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ Q7017 1 17 JId & Iforg|

[(0.67)2 +0.067 +(0.1)2

Options :
1 #® 0.060

5 % 0.66
3 & 0.57

4 % 0.057

Question Number : 58 Question Id : 7532295521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The number of males in an office is 3 times the number of females. (office has only male and female employees) Which
of the following cannot be the total number of emplovees in the office?

Options :

1.+ 14

) #® 24
3 ® 40

4. % 44

Question Number : 58 Question Id : 7532295521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch DATed H GouI i T Al ol WA 1 3 A3 | (Braied # Hhad Joy HR Al HHARI 8) Fufeiad
Y B A Sriag § SHAIRG &1 S YT el 8] Thdl 82

Options :

1. 14

) ® 24
3 % 40

4. % 44

Question Number : 59 Question Id : 7532295522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
1

What is the value of —~— + =
a®8_1 af—a_1

Options :
1. % 0

4. ® a+p

Question Number : 59 Question Id : 7532295522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LS 2 laﬂmﬁmaﬁa

a®~F_1 af-a_

Options :
1. % 0

3.9 -1

4% TP

Question Number : 60 Question Id : 7532295523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Transport In charge of a School is to engage some buses for organizing an excursion programme for 312, 260 and 156
students of class X, XI and XII respectively. Buses are to be hired in such a manner that maximum number of students
are to be seated in each and each bus is to carry same number of students. How many maximum numbers of buses will
have to be hired for doing s0?

Options :

1.v 14

2. 16
3 & 18

4 % 13

Question Number : 60 Question Id : 7532295523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh Wl o IRAe UHRT Bl el X, X1 3R X1 & HHRT: 312, 260 AR 156 BET & [T YAV BRIGH I
6] o (07U $ G901 I T 8 | 981 o1 58 TR I [hIT TR o1 51§ o U & HfIhad S H 1 66
AR IS 99 H THM GBI H I 81| U1 6+ & o if¥esad fha- o foeere w ot gfiffe

Options :

1.« 14

2. 16
3 & 18

4 % 13
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532295524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

What time is party?
Options :



1. * a

2. % an

3. ¥ the

4. % No Article

Question Number : 61 Question Id : 7532295524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

What time is party?
Options :

I.* a

2. % an

3. ¥ the

4. # No Article

Question Number : 62 Question Id : 7532295525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I saw white tiger in the zoo.
Options :

1.¥ a

2. % an

3. % the

4. % No Article

Question Number : 62 Question Id : 7532295525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.



I saw white tiger in the zoo.
Options :

1.¥ a

2. % an

3. ® the

4. * No Article

Question Number : 63 Question Id : 7532295526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Will you kindly inform few of Veena’s friends about her illness?
Options :

1.¥ a

2. % an

3. * the

4. * No Article

Question Number : 63 Question Id : 7532295526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Will you kindly inform few of Veena’s friends about her illness?
Options :

1.¥a

2. % an

3. # the

4. # No Article

Question Number : 64 Question Id : 7532295527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Despite of / not having enough money, / my friend decided/ to buy a new car.
Options :

1. ¥ Despite of

2. # not having enough money

3. #* my friend decided

4. # to buy a new car

Question Number : 64 Question Id : 7532295527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Despite of / not having enough money, / my friend decided/ to buy a new car.
Options :

1. ¥ Despite of

2. # not having enough money

3. % my friend decided

4. # to buy a new car

Question Number : 65 Question Id : 7532295528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Though my friend /started late so / he managed to complete /his work on time.
Options :

1. # Though my friend

2. ¥ started late so

3. % he managed to complete



4. * his work on time

Question Number : 65 Question Id : 7532295528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Though my friend /started late so / he managed to complete /his work on time.
Options :

1. # Though my friend

2. % started late so

3. * he managed to complete

4, % his work on time

Question Number : 66 Question Id : 7532295529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

It is not to let small children on the walls.
Options :

1. ® write, write

2. % write, right

3. ¥ right, write

4. # right, right

Question Number : 66 Question Id : 7532295529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

It is not to let small children on the walls.
Options :



1. * write, write
2. # write, right
3. ¥ right, write
4. # right, right

Question Number : 67 Question Id : 7532295530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

The dead is smelling
Options :

1. ¥ fowl, foul

2. % foul, foul

3. * fowl, fowl

4. # foul, fowl

Question Number : 67 Question Id : 7532295530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

The dead is smelling
Options :

1. ¥ fowl, foul

2. % foul, foul

3. #® fowl, fowl

4. # foul, fowl

Question Number : 68 Question Id : 7532295531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.



Where/ I can find /an auto repair shop/ in this area?
Options :

1. % Where

2. % I can find

3. % an auto repair shop

4. % in this area

Question Number : 68 Question Id : 7532295531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Where/ I can find /an auto repair shop/ in this area?
Options :

1. # Where

2. ¥ [ can find

3. % an auto repair shop

4. * in this area

Question Number : 69 Question Id : 7532295532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence

The young man passed the exam with flying colours.

Options :

1. #* in his first attempt
2. # with someone’s help
3. % with some difficulty
4. ¥ very successfully

Question Number : 69 Question Id : 7532295532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence

The young man passed the exam with flying colours.

Options :

1. * in his first attempt
2. # with someone’s help
3. # with some difficulty
4. ¥ very successfully

Question Number : 70 Question Id : 7532295533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

One of my friends left India for good .
Options :

1. ¥ permanently

2. % temporarily

3. # recently

4. # suddenly

Question Number : 70 Question Id : 7532295533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

One of my friends left India for good .
Options :

1. ¥ permanently

2. # temporarily

3. % recently



4. # suddenly

Question Number : 71 Question Id : 7532295534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the given group of words.

A medical condition that makes a person unable to remember things.
Options :

1. # Stupor

2. ¥ Amnesia

3. % Slumber

4, % Anaemia

Question Number : 71 Question Id : 7532295534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the given group of words.

A medical condition that makes a person unable to remember things.
Options :

1. % Stupor

2. ¥ Amnesia

3. # Slumber

4. % Anaemia

Question Number : 72 Question Id : 7532295535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Is it late to sign up for the seminar now?
Options :



1. ¥ too
2. * to
3. #® two

4. % tow

Question Number : 72 Question Id : 7532295535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Is it late to sign up for the seminar now?
Options :

1. ¥ too

2. % to

3. % two

4. % tow

Question Number : 73 Question Id : 7532295536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/phrase in the given sentence.

Anita was surprised when contrary to her judgement, her boss turned out to be a man of straw .
Options :

1. ¥ A man of no substance

2. % A man of great talent

3. ¥ A man of importance

4. % A man of innovative ideas

Question Number : 73 Question Id : 7532295536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/phrase in the given sentence.



Anita was surprised when contrary to her judgement, her boss turned out to be a man of straw .
Options :

1. ¥ A man of no substance

2. % A man of great talent

3. % A man of importance

4. % A man of innovative ideas

Question Number : 74 Question Id : 7532295537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to describe the man.

The old man is known for being an expert on matters involving the judgement of beauty, quality or skill in art, food and music.
Options :

1. ¥ Connoisseur

2. % Glutton

3. % Patron

4. % Critic

Question Number : 74 Question Id : 7532295537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to describe the man.

The old man 1s known for being an expert on matters involving the judgement of beauty, quality or skill in art, food and music.
Options :

1. ¥ Connoisseur

2. # Glutton

3. # Patron

4, % Critic

Question Number : 75 Question Id : 7532295538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Hegemony
Options :

1. % Scholarship
2. % Alimony
3. ¥ Dominance

4. % Subordination

Question Number : 75 Question Id : 7532295538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Hegemony
Options :

1. % Scholarship
2. % Alimony
3. ¥ Dominance

4. % Subordination

Sub-Section Number : 2
Sub-Section Id : 753229348
Question Shuffling Allowed : Yes

Question Id : 7532295539 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Dolphins are regarded as the 1. creatures in the sea and stories of them helping 2. sailors have been common since the Roman
times. The 3. we learn about dolphins, the more 4. realize that their society is more complex than people 5. imagined.



Sub questions

Question Number : 76 Question Id : 7532295540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.1.
Options :

1. * friendly

2. ¥ friendliest

3. * friendship

4. * friends

Question Number : 77 Question Id : 7532295541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.2.
Options :

1. * laughing

2. % mourning

3. ¥ drowning

4. * working

Question Number : 78 Question Id : 7532295542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.3.
Options :

1. * less

2. % least

3. ®* most

4. % more

Question Number : 79 Question Id : 7532295543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.4.
Options :

1. #* they

2. % us

3. ¥ we

4. % he

Question Number : 80 Question Id : 7532295544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.5.
Options :

1. ¥ previously

2. * notoriously

3. % lately

4. % unfortunately

Question Id : 7532295539 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Dolphins are regarded as the 1. creatures in the sea and stories of them helping 2. sailors have been common since the Roman
times. The 3. we learn about dolphins, the more 4. realize that their society is more complex than people 5. imagined.

Sub questions

Question Number : 76 Question Id : 7532295540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in blank no.1.
Options :



1. # friendly
2. % friendliest
3. # friendship
4. #* friends

Question Number : 77 Question Id : 7532295541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.2.
Options :

1. #* laughing

2. % mourning

3. ¥ drowning

4. % working

Question Number : 78 Question Id : 7532295542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.3.
Options :

1. #* less

2. % least

3. * most

4. % more

Question Number : 79 Question Id : 7532295543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.4.
Options :

1. # they

2. % us



3. % we
4. % he

Question Number : 80 Question Id : 7532295544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in blank no.5.

Options :

1. ¥ previously
2. * notoriously
3. % lately

4. % unfortunately

General Hindi
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Group Id : 753229289
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Edit Attended Group? : No
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Group Marks : 20
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General Hindi

Section Id : 753229289
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Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229349
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7532295545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o © Sgiife 99 &7 e 7] -
Options :

1. % YD dgdife

2. % GHMFIYGRO Sgaillg

3. % JUUNT Sgaife

4. ¢ 3YBIU Igdie

Question Number : 81 Question Id : 7532295545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore & 9 wgdlife o &1 e TE 8-
Options :

1. % YD dgdifeg

2. % YUMIYBRO §gdille

3. % Togan 9gdife

4. ¢ 3fereHu geiife

Question Number : 82 Question Id : 7532295546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9§ - AR GeTa’l Te! 87

Options :




1. ¢ G Hg &I
2. % G A AT
3. % GA AR gl
4. % g g@ AT

Question Number : 82 Question Id : 7532295546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad § O ST areai eTerT el 82
Options :

1. ¢ G Hg I Al

2. % GA A gl

3. % A AR gl

4. % G GE@ ST

Question Number : 83 Question Id : 7532295547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 o T foog gerak &1 o G g 82
Options :

1. ® HA DA

2. % HA PRI HRI

3. % T Sl

4. U4 HEAI

Question Number : 83 Question Id : 7532295547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 7 3 fr et 1 off Ty g 82
Options :

1. #® HA DA



2. % HIPTHRIT
3. % O SIeHl
4. % HIHAA

Question Number : 84 Question Id : 7532295548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“AIHR A AT @it |’- a1 | ¥@ifpd faufad fog eRE &t g2
Options :

1. ¢ Hal

2. % HH

3. % POT

4. ® JEIGH

Question Number : 84 Question Id : 7532295548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AepR 3 SRS @Il |- IRy H X@iferel AUt v R 31 32
Options :

1. ¥ Fal

2. % B

3. % PO

4. % JHIQH

Question Number : 85 Question Id : 7532295549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 & 3 dagd s AT

Options :
1. ¥ 35
2. % 3y



3. % By
4. % &g

Question Number : 85 Question Id : 7532295549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{9 & ¥ Togd e AT

Options :

1.¥ 33

2. % Y

3. % B

4. % g

Question Number : 86 Question Id : 7532295550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FREREEI R VRS

Options :

1. % SRIITC BT TS

2. % QR BT Rl

3. % QDI P

4. ¢ X H IAH

Question Number : 86 Question Id : 7532295550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Xeg, Bl 3{&%:

Options :

1. % GRITTC Bl HINT

2. % QBT LRl

3. % QDI UP



4. S H 34T

Question Number : 87 Question Id : 7532295551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % fope

2. & B

3. % WX

4. % &R

Question Number : 87 Question Id : 7532295551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STIST ¥ ST ek a1 o

Options :

1. % fa¥pe

2.V 5%

3. % WX

4. % fR

Question Number : 88 Question Id : 7532295552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgratt 2reg & forg Wt AT © -

Options :

1. % g ol @Il ara
2. ¢ S YT GIRN & a1V TrordT &l
3. % ST g 8
4. ® TR P QoM aral



Question Number : 88 Question Id : 7532295552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgratt 2reg & forg Wt AT © -

Options :

1. % 5% P WioH ardl

2. ¢ S ST GIRI & a9 WierdT 8
3. % ST g 8

4. % YR DI QoA arel

Question Number : 89 Question Id : 7532295553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad # 4 fawranie sl 3/eug &1 =g Hifee?

Options :

Question Number : 89 Question Id : 7532295553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad | ¥ fowafe Sy s/eag o1 99 HIfoTe?

Options :



Question Number : 90 Question Id : 7532295554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dgd He 't a%] g HeaTd g, fobwg oI ST 7 TS S Tb, I T Hed 82
Options :

1. % SiHdl

2. % QRBIHA

3. % HeaH

4. A

Question Number : 90 Question Id : 7532295554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Igd He'ht 9% 9g4cd HedTd! &, fbgd oIt S1Hd 7 @ ITg off Uh, I F1 Had 82
Options :

1. % Piad!

2. % QB!

3. % gegae

4. ¢ A

Question Number : 91 Question Id : 7532295555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“3HTHD Ueg & Fcid 37 a0l fadhed H1 98 HIfv-
Options :

1. % S g AlD BT

2. % 3t Ud &1 gdUYH Uad- & ardl

3. ¢ ST 3R SR T A=) I arell

4. % AR Pt Ja1 w4 arar

Question Number : 91 Question Id : 7532295555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3ATHD Teg & et 31 el fadwey H1 I HIf-
Options :

1. % ST dAD B8

2. % B3t A BT GAUYH Uad B ard]

3. ¢ ST 3R SR T T~ T ardll

4. % JHfAfy Y Ja1 HA aran

Question Number : 92 Question Id : 7532295556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt ot s Tl DI IR FE Tahd 8, fobeg a1 7 TR B Wbl -
Options :

1. % gt FieTg 99 9 31 D1 Tl &b farg

2. % §RE Y WIE I8 Bl AB! b fory

3. ¢ Udl & forg

4. % Tyid, Ry ok fRuféra it & forw

Question Number : 92 Question Id : 7532295556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forait ot T Tl DI IR, F8 Tahd g, fbrg aTHT 1 AN BT 9hdl 5-
Options :

1. % gt FieTg 99 Y 31 D1 Tl b forg

2. % §RE Y TG qY B ASHI b el

3. ¢ Udl & fog

4. % Tyiq, Ry ok fRféra wh 3 ferg

Question Number : 93 Question Id : 7532295557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ECIRCIRUIDCICIE

Options :

1. ¢ 3Ud

2. % Had

3. % gHR

4. % Ugd

Question Number : 93 Question Id : 7532295557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GAP HT AT T8 6:

Options :

1. ¢ 3Ud

2. % Hod

3. % ¥R

4. % Ugdq

Question Number : 94 Question Id : 7532295558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s 3R FRd Tt 1 g T R
Options :

1. % Bl

2. % g g

3. ¢ SIRATfERR

4, % TRATTRH

Question Number : 94 Question Id : 7532295558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e SR fFRUS eg] &1 g 781 B
Options :

1. % AG-Sd

2. % s TS

3. ¢ qIRAfoR

4. % TRYLTRH

Question Number : 95 Question Id : 7532295559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Td-TToRTes-g &1 Tg! 3 Ug &
Options :

1. % fRufa-dfiargsm

2. ¢ Sidl g3M-ard

3. % fQTd-S{Td

4. % ARG

Question Number : 95 Question Id : 7532295559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA-TTfRTee-gw &1 Tt 31 ¥ 8

Options :

1. % fRufa-didrgan

2. Sidl g3M-ard

3. % fa7d-3mTd

4. % ARUC

Sub-Section Number : 2

Sub-Section Id : 753229350
Question Shuffling Allowed : Yes

Question Id : 7532295560 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (96 to 100)

JURIG TR T 3N HY 3R 41 feT M U & IR S|

TR gl U &1 BT T RITGAT 1893 H B, IS U---F19 TGS &N, U IHEARE0 By 3R 315 RiapaR Rig | Ieeg ym
o Ie 1 39 wHg &<l 3t ufagfear B fAfsd I it o gal I TRBRT ARE01 U1 7| et ISl & Ueier S o fob aerara &
TR R R 3¢ A B3 0e 181 7, TS BT Ig, prvft ARt et H ferar Se ot ag &) 81 Smvft | sra: 31 e 3mig ARy s1erl &
TIRT TR 7| S99 €Y ¥ 3} TaR-UNIR &1 31T TR 67 19 g3 AR Fan<oft wu1 | 41 & fafqy wrd-wam 1 ¥ i smater Al dew
3R gt THTd & R g1 &<l WeqarR, ot wara w0 # ) wifeed &1 3faery wifend o o fora ma, iR &l v &
HTHRUL---FHT 1 1 o131 & Uled MHYER S T UE 81U UT| 39 Uicha™d oI 30 71 & A1y Afdkicdl &1 35T g3HI--HIBR
IS T, SIERIBHR IS Y 3R 9a1HR01 HIATTNTG T | THTe, AR TRUNW SR FRIA®! [eeEsmdr & IRe 0 § o
HETAR TG fgddl &1 &0 SMTd1 & $ 9 &l JHag g1, Yol 3R HIHAVNIE TR & dghd HI-Hag & U THYER G &t dior
fxars et B 1 U8 3o § fob aeTss g forat féromfa O tharar § 99 dgfiies g el SR I8! TRad-guTge aul AR wr=mioft aH1 &
AT Hfadd H 3R <@ S Yo g |

Sub questions

Question Number : 96 Question Id : 7532295561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR el T & TRt B | T B
Options :

1. % 91 HYR G-

2. % AR fay

3. ¢ IHTS Y

4. % BTPR RIaHUR g

Question Number : 97 Question Id : 7532295562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgct & IS 1T HIWT &9 | 9y Fof a1e1 fEe} ueiert o aar afle
Options :

1. # Jg T &I UT TRPRT AT

2. ¢ 3¢ DI fIfU &7 3@ AT



3. % fEd-3¢ & A iR
4. % I DI STHMY H Aleh Ord

Question Number : 98 Question Id : 7532295563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafea 7 fe< e It & 82
Options :

1. % WYHYER ™

2. ¢ HIHAYHG

3. % IHTG Yad

4. % g aAf

Question Number : 99 Question Id : 7532295564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fedl YT & I F fore AR} wranRoft g &1 g & § Far Qe 81 /2
Options :

1. % fgdl & TaIR-UNR & for g

2. % &t uifec 3iae aed &1 &1

3. % fgd} {91 TR B T

4. ¢ T &1 AU BT I feeramn

Question Number : 100 Question Id : 7532295565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T HeTdR ywe fgddt A 3l afewd iR w1 & fara & fore e & 9 v fasam
Options :

1. % Dorde, FRTa, AR T Uy X TeR] & IR o |

2. % fg=dt Anfec &1 gfdgr feran|

3. % fgc Weaep 1 1 AT foba|

4, « R YRR FHT BT RITGT 1 |



Question Id : 7532295560 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

IR TR BT 3T B 3R I feu MU Uy & IR 2|

AR RO quT &t HTRf H RATTAT 1893 A §S, TR J---F1e IATHYER &1, T AR Y 3R 3R RIapaR Rig| Ieiabig ye
& Y ¥ 39 9y Bl &t ufagfadt BRef fAfda 3¢t fo ugal I TRepRT TReon ured o7 | fEd 1o o verer S U o Sierara &
TR R R 3E A B1E We 181 7, S BT Ig, prft At 31ert o ferar Se ot ag fed) 81 st srar: 31 e 3mig A s1erl &
TIRT TR 7| S99 €Y ¥ S TaR-UNR &1 31T TR 67 19 g3 AR Wanioft wuT 1 41 & fafqy wrd-swam 8 ¥ i smter Al dgw
3R g THTE & R g1 et TeeurR, et vt &0 ¥ it wifec &1 sfasr wfad wu & forar wan, iR fédt ymar a1
HTHRUT---FHT 1 37 o131 & Ulted MRGER S T U 81U UT| 39 Uiehad i (U= 71 & a1y safddcdl &1 35T g3HT--HIHR
TS T, SIBRIHR IS Yo 3R JaTHR01 ST T | THTe, BT TRUMW SR fFRIA®! [eTeEsmdr & IRe 0 § o
HETAR YIS fgddl &1 0 ST | $ 9 &l AHag g1, Yol 3R HIHAVNIE TR & dghd HR-Had & YT THYER g/ &t dior
fars It ] 1 78 31 © b TarTetss ot forait farmmifa & tratdT § 99 dgfies I e, 3R a8t TREad-ured auT AR} TramiRo quT &
HARITIH Ao B SR ol ol Ihal 5 |

Sub questions

Question Number : 96 Question Id : 7532295561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR el T & Tt | T B
Options :

1. % 91 YR ™

2. % IHARM Ay

3. ¢ JHES YA

4. % 3R RIIHAR g

Question Number : 97 Question Id : 7532295562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEct & IS 1T HIWT &9 H o Fof a1e7 fEe) uerert o aar aflo

Options :




1. ® J¢ YN P U TRBRT TRE0T
2. ¥ Jg @1 [ T ST BT

3. % f§d1-3g & O SfR

4. % I DI STHMY H e ord

Question Number : 98 Question Id : 7532295563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 fe=dt s et 3 82
Options :

1. % WYHYR G

2. ¥ BTG T

3. % JHdg YA

4. % rHEG 9Hf

Question Number : 99 Question Id : 7532295564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEd} 1T & I F forg AR wenlRoRt gy 1 g # 1 Far ae 8 82
Options :

1. % gl & TAIR-UNR & fore vy

2. % 3 uifec sfae aed &1 &1

3. % fEdl {191 TR U B T

4. ¢ T DI AU BT I feaamn

Question Number : 100 Question Id : 7532295565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T ARTdR e fgadl 3 &<t anfecy SiR |1 & fasr & fore 9 9 a1 & fosam
Options :

1. % Jde, fFRTe, AR T gyfd [T eR] & RS 41

2. % =<1 e &1 sfer forar|




3. % =Y Wregap1xr o1 fAwfur fara
4. ¢ ANRI TR GHT D TG Bl |
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Group Number : 6
Group Id : 753229290
Group Maximum Duration : 0
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Question Number : 101 Question Id : 7532295566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Loss from the activity of owning and maintaining the racehorses can be carried forward up to
Options :

1. ¥ 4 years

2. % 7 years

3. # 8 years

4. % There is no limit.

Question Number : 101 Question Id : 7532295566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SaIS & UIS] I Y@ 3R SHT IGRWIA B B AT I g a1 THH Bi I ST T ST T AHhell G|
Options :

. ¥ 4TY
2. % 799
3. % g9y
4. % s AT I

Question Number : 102 Question Id : 7532295567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under Section 80DD of the Income Tax Act, 1961 what is the maximum deduction allowed for maintenance of disabled dependent relative in
case of severe disability?

Options :

1. % 330,000
2. % 350,000
3. % 375,000
4.+ %1,25,000

Question Number : 102 Question Id : 7532295567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR AT, 1961 BT YRT 80DD &b dgd, THR fabaiTdr & Araa § fadait fdd RIaeR & URUI-UINUT & folT 3ifdhay sgad




el farat 82
Options :

1. % 330,000

2. % 350,000

3. % 375,000
4.+ %1,25,000

Question Number : 103 Question Id : 7532295568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reducing the tax liability in a legally permissible manner is called:
Options :

1. % Tax Planning

2. % Tax Avoidance

3. ¥ Tax Evasion

4. ¥ Tax Management

Question Number : 103 Question Id : 7532295568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT U H 3IA dRidh J B oIl DI B BT FT BTl 67
Options :

1. % P SIS
2. ¢ PR URaoH
3. % HI a9
4. % PR YUY

Question Number : 104 Question Id : 7532295569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. X, who resides in Lucknow, Uttar Pradesh, received 260,000 as basic pay per month. The company pays House Rent Allowance of 325,000
per month, which is paid to the landlord by Mr. X. Due to some financials emergency, Mr. X took advance salary of X1,00,000 in April 2021.



Calculate the exemption available for House Rent Allowance to Mr. X for Assessment Year 2021-22.
Options :

1. ¥ 219,000

2. % %1,19,000

3. ¥32,28,000

4. % %1,28,000

Question Number : 104 Question Id : 7532295569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGS, SR TG Fart o X &1 ufd 718 Jd da- & &9 H 260,000 UTE BId & | HUAT 225,000 U AT HHT fhmal Hl &1 YT Bl
g, ForaeT YA 4t X GRT AGH HIfeies & & fean ST 8 | $3 fa<ita simora fufat & wRon, ot X 7 30 2021 7 21,00,000 &7 34\
da Iern| FuRoras 2021-22 T oft X & o A™ faman v & foIe Sudas ge &1 AT 1|

Options :

1. % %19,000
2. % %1,19,000
3. ¥%2,28,000
4. % %1,28,000

Question Number : 105 Question Id : 7532295570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. A, an Indian Citizen, was employed with an Indian company from the last 5 years in India. He received a job offer from a company based in
Canada. On 18 September 2020, he left India to join the employment with the Canadian company. During the previous year 2020-21, he received
a salary of 22,75,000 from the Indian company, and a salary of ¥6,50,000 from the Canadian company. What is the residential status of Mr. A for
Assessment Year 2021-22 as per provisions of Income Tax Act, 1961 for India?

Options :

1. % Resident

2. % Resident and Ordinary Resident

3. # Resident and Non-Ordinary Resident
4. ¥ Non-Resident



Question Number : 105 Question Id : 7532295570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oft A, S T YR ARG g, HRA H U3 5 I8 A Th HRAHT Ut H B B I3 A1 I HAIST YT Th HU-T J Tep) o1 U e
18 FIdeR 2020 BT, I HATST B HUAT H WA B & I URA Bl feam| fosd av 2020-21 & SRM, I8 HRAT ST 22,75,000
&1 aa- A, 3R HATSTS B ¥ 26,50,000 BT ad- HET | YR SAHR AT, 1961 & Tae™l & AR FHuRor af 2021-22 % fog
oft A &} o) fRufa o g2

Options :

1. % fagr

2. % gt 3R gremor fFard
3. ® fYaRft 3R rareRor fAardt
4. ¢ fAardt

Question Number : 106 Question Id : 7532295571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT for GST?

Options :

1. % GST is an origin-based tax.

2. % GST is technically paid by the supplier, but it is actually funded by the customer.
3. ® Under GST, input tax credit is provided throughout the value chain.

4. ® GST is collected through staged process, i.e. tax on the value added to goods and services.

Question Number : 106 Question Id : 7532295571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St Eg.E (GsT) & SR § Fufafad & @ &9 91 $Y= 3d 82

Options :

1. ¢ SLTA.A. (GST) U HaA-3MRd HR g |

2. % ST, (GST) BT YITAH ddb-1h! U F SHYfciddl gRT foa ST &, 1 I8 aad & AT gRI (Aide gidl g |

3. % SNEA.A. (GST) & d8d, T 7 Y7a1 # 37YC o shise UM fhar Sarg |

4. % SUA.E. (GST) P! TRUEG Ulchal & ATeqH J Thd o1 offa 8, 31l aegait iR Jarsii & Jeu-dieH IR &R RITd fhar S |




Question Number : 107 Question Id : 7532295572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under GST, HSN stands for:

Options :

1. ® Harmonised Source of Nomenclature

2. ¥ Harmonised SYSTEM of Nomenclature
3. # Harmonised Standard of Nomenclature

4. % Harmonised Subject of Nomenclature

Question Number : 107 Question Id : 7532295572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SN.TH.EL. (GST) & dgd, HSN &1 g0l &U 1 52
Options :

1. ¥ Harmonised Source of Nomenclature (Bmﬁls%’ I 3w W)

2. ¥ Harmonised SYSTEM of Nomenclature (ETFﬁ:TI_EE% e 3t Wﬂ?)
3. % Harmonised Standard of Nomenclature (BTJ:IT:HEE @3@: 3B ?quaﬁa“{)
4. % Harmonised Subject of Nomenclature (BTHFT3SS Jeolae T ATA-GIR)

Question Number : 108 Question Id : 7532295573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A composition dealer under GST is required to file quarterly statement for payment of self-assessed tax in form
Options :

1. ¥ CMP-03

2. ¥ CMP-08

3. # GSTR-3B

4. % GSTR 1



Question Number : 108 Question Id : 7532295573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, (GST) & T8d Ueh TaH AURY & W-Fuffvd o & Y & forg Imie faavor wid H gIRad w1 ifard glar B
Options :

1. % CMP-03

2. ¥ CMP-08

3. ¥ GSTR-3B

4. % GSTR 1

Question Number : 109 Question Id : 7532295574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Section 49 of the Customer Act, 1962, i.e. warehousing without warehousing, the goods stored in the public warehouse must be removed
within

Options :

1. ¥ 30 days

2. % 90 days

3. % 120 days

4. ¥ 180 days

Question Number : 109 Question Id : 7532295574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTedh HAITTH, 1962 BT URT 49 34T ATENEH & foT eI & AR, Jrau-db ARG H HaTRd HId &I & iR ger
fea ST =g u

Options :

1. ¢ 30 faq

2. % 90 faq

3. % 120feT

4. % 180 e




Question Number : 110 Question Id : 7532295575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an objective of Internal Audit?

Options :

1. # To verify the correctness of financial accounting and statistical records
2. # To comment on the effectiveness of the internal control system

3. ¥ To give true and fair view for the affairs of the company

4. % To facilitate the early detection and prevention of frauds

Question Number : 110 Question Id : 7532295575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered & A B9 9T iidRe aaTadien &1 ey Tel 82

Options :

1. % foxitg SRafer SR Tt Sifieral ot uRRledl &1 Jafid AT
2. % 3ffdR =1 yuren &1 gHTaRedr wR fewuft &

3. ¥ HUHI & BT DI e 3R e TR TRGd HReAT

4. % gRATS P M U1 T 3R ISP ARl B JH ST

Question Number : 111 Question Id : 7532295576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the act of examining documentary evidence in order to ascertain the accuracy and authenticity of entries in books of accounts.
Options :
1. ¥ Vouching
2. # Ledgering
3. % Verification

4. % Journalising

Question Number : 111 Question Id : 7532295576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Wral-afedl & &1 78 ufafdal Bt giear 3R UG T &1 Udl o & fold S&dTaol 9180 &1 §iid B3 &1 B g |
Options :
1. ¢ TSR IR BT
2. % QIdT Tl § UfAfte Sl
3. ® JdM9-d
4. % SHARSHEE § Ufafte S

Question Number : 112 Question Id : 7532295577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Section 144 of the Companies Act, 2013, a person shall NOT be eligible for appointment as an auditor of a company if he/she has been
convicted by a court of an offence involving fraud and a period of years has NOT elapsed from the date of such conviction.

Options :
1. %1
2.% 5
3.% 7
4. 10

Question Number : 112 Question Id : 7532295577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AFATH, 2013 B URT 144 F AR, HIS Afad HUAT & AT Wied & U 7 g & e u 761 g afe 38 erara<t 98
foralt SURTY & foTT SfaTad GRT G GERMaT AT § SR 39 QuRifg P ARG 3@ ddh gy &} 3(afy JHIW Te! g8 ¢ |

Options :

1. %1

2. %5

3.% 7

4.9 10

Question Number : 113 Question Id : 7532295578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the right of an Auditor?

Options :

1. # Right to ask for information and clarification

2. ¥ Right to correct books of account himself when errors are found
3. % Right to be indemnified

4. % Right to take legal and technical advice

Question Number : 113 Question Id : 7532295578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SF 1 ARt F1 SfBR T8 87

Options :

1. % TSR 3R THHI0 A BT AHABR

2. + FfCTI U M R WId1-agdl &1 W S H BT YDR
3. % &ffagfRd fu M &1 SifedhR

4. % BT 3R dh-iiep! AT A BT HABR

Question Number : 114 Question Id : 7532295579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the quantum of maximum turnover under Section 80-IAC of the Income Tax Act, 1961 for AY 2021-22?
Options :

1. #® 225.00 Crore

2. % %50.00 Crore

3. # 375.00 Crore

4. % %100.00 Crore

Question Number : 114 Question Id : 7532295579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AT, 1961 P URT 80-IAC F dgd, YR av 2021-22 & T 3ifIHaTH FRIGR (@H3NaR) o1 AR T 82



Options :

1. % 225,00 PRIS
2. % 350.00 RIS
3. % 375.00 RIS
4. ¥ 2100.00 HIS

Question Number : 115 Question Id : 7532295580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At , the central bank of a country lends money to commercial banks in the event of any shortfall of funds.
Options :

1. % Reverse Repo Rate

2. % Cash Reserved Ratio

3. % Repo Rate

4. % Statutory Liquidity Ratio

Question Number : 115 Question Id : 7532295580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foft S T g d AR Pt FH e RaMfTH dHl dl W YT IUR AT 5
Options :

1. % gfdadiya R

2. % qha RI& MY srurd

3. WUR

4. % qifdfered A SrIUTd

Question Number : 116 Question Id : 7532295581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a primary function of a bank?
Options :



1. # Saving account deposits
2. ® Recurring deposits

3. # Current deposits

4. ¥ Collection of cheques

Question Number : 116 Question Id : 7532295581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoad § @ 19 1 S &1 mufiie o A8t 72
Options :

1. % §od QAT ST WIbR DAl

2. % 3fTacl SHT WIHR HAT

3. % e @Il T WihR BT

4. ¢ AP] B GUGU]

Question Number : 117 Question Id : 7532295582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a selective credit control method?
Options :

1. ® Bank Rate Policy

2. ®# Open Market Operations

3. # Variable Legal Cash Reserve Ratio

4. ¥ Variation in Margin Requirement

Question Number : 117 Question Id : 7532295582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o W@t IS BT dao fafd g2

Options :

|. % do X ifa



2. % Gl SR URETeH (o aeR 8 ufayfadl &1 wa-faka)
3. % ORAA- B SRFE Fdbal i Srgurd
4.« TR SU&MH 3R

Question Number : 118 Question Id : 7532295583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The validity period of cheques and demand drafts is:
Options :

1. # 7 days

2. % 1 month

3. % 3 months

4. % 6 months

Question Number : 118 Question Id : 7532295583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R fSHTS STue St dudr 3afd fora-t g 82
Options :

1. % 7feA

2. % | HH

3. 3 TR

4. % g

Question Number : 119 Question Id : 7532295584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first development bank of India?
Options :

1. # Industrial Credit and Investment Corporation of India (ICICI)
2. ¥ Industrial Finance Corporation of India (IFCI)



3. # Industrial Development Bank of India (IDBI)
4. ® Industrial Reconstruction Bank of India (IRBI)

Question Number : 119 Question Id : 7532295584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o9 91 YRd &1 ugen fawg §& (development bank) 82
Options :

1. % YR enfiies o1 ud fRaw A (cien

2. ¢ YR 3ienfie faed AT (rer

3. % YRAH e faem §& (1IDBI)

4. % YR e GAfH0 §& (IRBI)

Question Number : 120 Question Id : 7532295585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Open-ended mutual funds are those

Options :

1. # having stipulated maturity period

2. ¥ which are always open for investment and redemption

3. # in which investment is always open but redemption is restricted

4. ® in which investment is restricted but redemption is always open

Question Number : 120 Question Id : 7532295585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3afy I @ HE A gld §

Options :

1. % 7 frgd ufvuear srafdy gict &

2. ¢ Sl a1 SIR A & fo gA=T Gol 81 8

3. % foFH o< gA=N Gar XedT § Afdr Wi wfasfed giar g




4. % oI Tire gH=I Gl @l 8 aifc1 o ufdsifera giar g
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Question Number : 121 Question Id : 7532295586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under which option does an investor have an obligation to deliver the security at a predetermined price to the option buyer if they exercise the
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option?

Options :

1. # Buying a Call option
2. % Selling a Call option
3. % Buying a Put option

4. % Selling a Put option

Question Number : 121 Question Id : 7532295586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o I feg fawe (3iT@M) & ded Te Az &1 98 S1fid gidl & foh 98 fadey (3iT=M) & WIER &, fadhed &1 TR a4 |,
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Options :

1. % %Y fdhey WigA

2. ¢ % [dhed 9T

3. % [9pd fadh ey Wi

4. % 9%y [AH ey a1

Question Number : 122 Question Id : 7532295587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Accounting Standard-18 is related to:
Options :

1. ¥ employee benefits

2. % segment reporting

3. ¥ related party disclosures

4. ® carnings per share

Question Number : 122 Question Id : 7532295587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG HID-18 REEIREE



Options :

1. % BRI ATH

2. % g Raifd

3. ¢ HdfEd U&PHR & Udhed
4. % gid AR 35

Question Number : 123 Question Id : 7532295588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Varun purchases the call option of shares at a premium of 325/share for a strike price of 250. The current market price of the share is 3245.
What is the profit/loss earned by Varun if the price of stock at expiry date is X270 (lot size: 25 shares)?

Options :

1. ¥ Loss of %125

2. # Profit of 3500

3. % No loss, no profit
4. ¥ Loss 0f 3625

Question Number : 123 Question Id : 7532295588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XU AR & Y [ddhed BT 225/R & WH WR 2250 & 90 H1T TR WG ¢ | TR BT Hislel IR HIG 2245 €1 fe Jaifd fafy iR
YR P P 2270 (ATe TIZS: 25 VAR) § 1 G201 gRT AT ATH/ETH DI TT0MT B2

Options :

1. ¢ 2125 D1 8T+

2. % 3500 PTdTH

3. % PIs 1Y Tol, DS gl ol
4. % 3625 P I

Question Number : 124 Question Id : 7532295589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under which type of sales is an article not legally sold out to the buyer and hence the ownership of the goods does not pass to him?



Options :

1. ¥ Hire purchase
2. # Sales on credit
3. % Contract sales

4. % Instalment sales

Question Number : 124 Question Id : 7532295589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁa%@aﬁﬁ%wﬁ%ﬁ%asﬁw«gﬁwﬁ FY Y TR P 8] 901 9711 § 3R STfIT AT 7 WMfied 39 I gt
oildl §?

Options :

1. ¢ famr el

2. % JYR R faepl

3. % 3{dY faisht

4. % fbad faspt

Question Number : 125 Question Id : 7532295590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are located at ports for storing goods on which import duty is unpaid.
Options :
1. # Field warehouses
2. ¥ Bonded warehouses
3. % Distribution centres

4. % Grain elevators

Question Number : 125 Question Id : 7532295590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Wi MaMm
2. ¢ Sf¥d M
3. # fqmur g
4. % Y9 TfeTdcR

Question Number : 126 Question Id : 7532295591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Opportunity cost of funds invested in inventories is part of:
Options :

1. # the ordering cost

2. ¥ the carrying cost

3. # the sunk cost

4. * the historical cost

Question Number : 126 Question Id : 7532295591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A H AR R saRara . wriewnadi gl
Options :

1. % 3G ¢4 P ANTd (ordering cost)

2. % W[4 d (carrying cost)

3. % gdd dITd (sunk cost)

4. % UfagNI® arTd (historical cost)

Question Number : 127 Question Id : 7532295592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which medium of advertising uses posters, billboards, electric displays, etc.?
Options :



1. ¥ Outdoor advertising
2. # Specialty advertising
3. % Window display

4. # Direct mail advertising

Question Number : 127 Question Id : 7532295592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FErRITC a1 b1 &1 HTeH UIReR, BT, gaifreeh fEewet 3iife b1 JUTNT bl &2
Options :

1. ¢ 3MT3CSR fasTu=

2. % faRIvd faqmo

3. % fdel fewi

4. % Y A fagmo=

Question Number : 128 Question Id : 7532295593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following sales promotion techniques is a sum of money offered to the reseller for each unit bought after an initial deal is over?
Options :

1. ¥ Buy-back allowance

2. % Buying allowance

3. % Merchandise allowance

4. % Free merchandise

Question Number : 128 Question Id : 7532295593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfTed & ¥ f5a goR &1 fao! JatH aeb-ie d T S-RIRI I & S U YR UGl THI 519 & dlg QRG] T3 D 3315 & 10d
QS dl I T Bl STt 82

Options :




1. ¢ Aot TG+

2. % Tliq Wl

3. ® TUg YT (Merchandise allowance)
4. % JUd YUY (Free merchandise)

Question Number : 129 Question Id : 7532295594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an element to overcome barriers to culture adaptation?
Options :

1. # Careful selection of employees

2. # Pre-departure training of foreign customs and culture

3. ¥ Departure of employees to their home country who suffer cultural shock

4. % Incentives and guarantees for better positions

Question Number : 129 Question Id : 7532295594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed # I &9 91 TBfa s ma & arersii &) g B a1 dd gl 82

Options :

1. % HUAIRAT BT AAYHIYdD ga7 BT
2. % TR ¥ Ugd faaRf IfA-Rarsii 3R Wi o7 URIefor em B
3. ¢ ARG D STUTd S aTdl HHATET BT ST G- ST ol

4. % 9gR US| & foru UicaTed SR TR} &1

Question Number : 130 Question Id : 7532295595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following models focuses on employee satisfaction and security in organisational behaviour?
Options :

1. ¥ Autocratic model



2. % Custodian model
3. % Supportive model
4. # Collegial model

Question Number : 130 Question Id : 7532295595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & @ ®F 91 Aisd T-TeT® HagR H HHAR! Bt AP R &M W Higd 82
Options :

1. % Ry Oled

2. W& Higd

3. % Gg® Hisd

4. % pldforgd Algd

Question Number : 131 Question Id : 7532295596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
states that a person will learn more from real things than substitutes like mock-ups, videotapes, interactive courseware, slides, etc.
Options :
1. # Law of Exercise
2. % Law of Intensity
3. % Law of Recency

4. # Law of Primacy

Question Number : 131 Question Id : 7532295596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
11 § T PIs aafaa Alep-3, difsal 2, Sekfded PamR, WES 3Nf o fadwed &1 Ja-1 § arRdided diel ¥ e drRadi g
Options :
1. % 3G P fAg9
2. ¢ digdi &1 fAag




3. % qdar &1 a9
4. % YAl &1 g9

Question Number : 132 Question Id : 7532295597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT?

Options :

1. ¥ Training has general purpose, whereas development has specific purpose.

2. # Training is short term, whereas development is long term.

3. % Training is generally for non-managerial personnel, whereas development is for managerial personnel.

4. # Training concerns with technical and mechanical knowledge, whereas development concerns on theoretical and conceptual implementation.

Question Number : 132 Question Id : 7532295597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SF 91 9 HU 3R 87

Options :

1.  TfRI&I01 BT T I2-A BIdT 7, Siaieh [T o1 fafkiy Se=a gian 7

2. % TR0 SeUHITAD BIT 8, STafch [Adm drdapTiera gidl g

3. % U&7 31 AR R TR-Use 1 1! 3 forg giar 8, Safds e veywia st & fae grar g

4. % YR qh-pt 3R i I Q T&fdd gial 7, Safd faerg Igifds iR d=ie srafaad T Yafdd gidr g |

Question Number : 133 Question Id : 7532295598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an objective of Training?
Options :

1. ® Individual objective

2. ® Functional objective

3. ¥ Industrial objective



4. # Societal objective

Question Number : 133 Question Id : 7532295598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & 9 o a1 ufien 31 3T e 82
Options :

1. % Hfgdid 3589

2. % PP I

3. ¢ SIS I

4. % D 5

Question Number : 134 Question Id : 7532295599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process or technique of instructing, guiding, inspiring, counselling, overseeing and leading people towards the accomplishment of
organisational goals is known as:

Options :

1. % organising
2. ¥ directing
3. ¥ controlling

4. % intrinsic motivation

Question Number : 134 Question Id : 7532295599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3
2. ¢ ¢
3. % g0




4. % 3{idRe U0

Question Number : 135 Question Id : 7532295600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a non-financial motivation?
Options :

1. # Participation

2. % Recognition

3. #® Power

4. « Extrinsic motivation

Question Number : 135 Question Id : 7532295600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad 5 Q& 91, e R-fada IRur =81 8
Options :

1. % FgHIFTar

2. % 3N

3. % Qferd

4. qIET IRUT

Question Number : 136 Question Id : 7532295601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest level of Maslow's hierarchy of needs?
Options :

1. % Safety needs

2. ¥ Self-actualisation

3. # Belonging and love needs

4. % Physiological needs



Question Number : 136 Question Id : 7532295601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o 91, URal & Sawadmarsl & UarHH &1 SEaq R 82
Options :

|, % GRET DI HTAGD Y

2. ¢ TH-dRAABIHUT

3. % 30U 3R UH P MMaIH AT

4. % YRING ATagHArd

Question Number : 137 Question Id : 7532295602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of 'IBRD', which supports the World Bank Group’s mission by providing loans, guarantees and risk management products?
Options :

1. # International Bank for Recognition and Development

2. ¥ International Bank for Reconstruction and Development

3. # International Bank for Relocation and Development

4. ® International Bank for Reform and Development

Question Number : 137 Question Id : 7532295602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # International Bank for Recognition and Development (éCQ'?IQI"Iﬂ d& IR RepifoeH 4] éﬁﬁqﬁ?)

2. ¥ International Bank for Reconstruction and Development ('{;CQ:IQI"M d& R R NeERIG Us %a('NEI*C)

3. # International Bank for Relocation and Development (iid{:i-‘ll"lﬂ d& BR NaleeH TS @aﬁqfl?)

4. # International Bank for Reform and Development (éCQ:I-‘ZI"Iﬂ d& IR R Us ééﬁqﬂ?)




Question Number : 138 Question Id : 7532295603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct sequence with respect to stages of internationalisation?
Options :

1. ® Domestic -Multinational-International-Global-Transnational

2. ¥ Domestic-International-Multinational-Global-Transnational

3. # Domestic-International-Multinational-Transnational-Global

4. % Domestic-Multinational-International-Transnational-Global

Question Number : 138 Question Id : 7532295603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIPTADBRU & =RUN & Feiy H AT 7 J I A1 AE HH 82
Options :

1. % TR TR SfRIYT- 4P ot

2. W HRIE- TG - TR

3. % W RIS Rt A

4. % R TEIE- SR TR S

Question Number : 139 Question Id : 7532295604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of 'CSR', which relates to ethical conduct, environmental practice and community investment?
Options :

1. # Community Source and Resources

2. ¥ Corporate Social Responsibility

3. # Corporate System and Resource development

4. ® Corporate Sustainability and Responsibility

Question Number : 139 Question Id : 7532295604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I TH.3MR. (CSR), 5t fob Afaes simeror, yafarofig ufafdm ok e o @ Saftd g, 39e 11 A fFafafed § S e arg?
Options :

1. ¥ Community Source and Resources Wﬁ_& Fﬁﬁqg ﬁ‘vﬂﬁﬂ)

2. ¥ Corporate Social Responsibility @\Iﬁﬁ_@ qrerd W@ﬁm

3. # Corporate System and Resource development m”tl‘ﬁ"c' Ry TS ﬂ@ﬁ@éﬂ@?’)

4. ® Corporate Sustainability and Responsibility m”u“ﬂ‘c' qeeAfaferdt TS mﬁﬁﬁﬁﬁ)

Question Number : 140 Question Id : 7532295605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following an ethical approach, which suggests that an action is right if, and only if, it conforms to the principle of utility?
Options :

1. ¢ Utilitarianism

2. % Deontological ethics

3. # Descriptive ethics

4. % Normative ethics

Question Number : 140 Question Id : 7532295605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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gt

Options :

1. ¢ IQIfararg

2. % YUY Afcrawd

3. % guiHTE® Afddmd

4. % fOme Afaeman
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Question Number : 141 Question Id : 7532295606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the maximum value of correlation in statistics?
Options :

1.¥ +1.0

2. % —-1.0



3.0
4. * 100

Question Number : 141 Question Id : 7532295606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sl H Tguay BT SHfmdH A fhd-T BT 82
Options :

1.¥ +1.0

2. % -1.0

3.%0

4. % 100

Question Number : 142 Question Id : 7532295607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of confidence interval, if the point estimate is 10 and margin error 2?
Options :

1. * 0to 10

2. % 5t0 10

3.¥ 81t0 12

4. % 10to 12

Question Number : 142 Question Id : 7532295607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fog Urasma 10 3R Iuidia Ffe 2 §, O fayTaar sicRTa &t Tier aan g2
Options :

1. %0910

2. % 5910

3.¥ 89 12



4.% 10912

Question Number : 143 Question Id : 7532295608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mode of set A as given.

A={10,15,7,8,6,6,10,15,6,7, 11}
Options :

1.¥6

2. % 9.18

3. % 10

4. % 11

Question Number : 143 Question Id : 7532295608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@'QTNWAWWW $||\=ﬂQI

A={10,15,7,8,6,6,10,15,6,7, 11}
Options :

1.¥6

2. % 9.18

3.% 10

4. % 11

Question Number : 144 Question Id : 7532295609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which offer is the offer made to the public, public at large?
Options :

1. ¥ General offer

2. % Specific offer



3. % Express offer
4. % Implied offer

Question Number : 144 Question Id : 7532295609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & ¥ o O 9e, S & Y, ST U T S-dT & ol &1 ST 82
Options :

1. ¢ T UGB (General offer)

2. % [afy OxIH s (Specific offer)

3. % JffYTad URHY (Express offer)

4. % f3fgd U= (Implied offer)

Question Number : 145 Question Id : 7532295610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first step in a valid contract?
Options :

1. ¢ Offer

2. % Acceptance

3. #® Consideration

4. % Consent

Question Number : 145 Question Id : 7532295610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad & § ®F-91 34 s BT YT =07 gl 62
Options :

1. ¢ 3T

2. % Wipld

3. ® fa=Ru



4. % ggHfd

Question Number : 146 Question Id : 7532295611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Majority Act, , , says that every person domiciled in India shall attain the age of majority on completion of 18 years and not
before.

Options :
1. ¥ 1875
2. % 1796
3. % 1854
4. % 1921

Question Number : 146 Question Id : 7532295611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂﬂ-mgﬁ%ﬁ TgUd ffFTH, . & SMUR, URA H o A a1 UdS afad 18 a9 &1 S ol 11 IR auRardl Bt 311 UTed &l 3R
|

Options :
1. ¥ 1875
2. % 1796
3. % 1854
4. % 1921

Question Number : 147 Question Id : 7532295612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Sale of Goods Act came into force in:
Options :
1. ® 1921
2. % 1930
3. % 1945



4. % 1963

Question Number : 147 Question Id : 7532295612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT fasha Sifae o ] gaim um
Options :

1. % 1921

2.9 1930

3. % 1945

4. % 1963

Question Number : 148 Question Id : 7532295613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of parties in a promissory note is:
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 148 Question Id : 7532295613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit e U= o vl o S fafofad o 9§ fora gt 82
Options :

1. %1

2.9 2

3.%3

4. % 4



Question Number : 149 Question Id : 7532295614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Consumer Protection Act, the number of rights given to consumers is:
Options :

1. %2

2. % 4

3.6

4. % 8

Question Number : 149 Question Id : 7532295614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR&0T SAFTH & AR SuHidrst ol Fafeied § 3 fha siifieR fu g
Options :

1. %2

2. % 4

3.6

4. % 8

Question Number : 150 Question Id : 7532295615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum number of shareholders required to form a public limited company is:
Options :

1. %2

2.% 5

3.¢7

4. % 10

Question Number : 150 Question Id : 7532295615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufedtes fRffes Su-t fdd FRA & fo gAaw fra TRRYURS TIRg® Bid 32
Options :

1. %2

2.% 5

3.7

4. % 10

Question Number : 151 Question Id : 7532295616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Companies Act, 2013, the minimum number of shareholders required for the legal registration of a private limited company is:
Options :

1.¥2

2.%5

3.% 7

4. % 10

Question Number : 151 Question Id : 7532295616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S AT, 2013 F IR, Th UIgde [fies Humt & BT UolieRul & ol A fora SRRYURS TIRI® gid 82
Options :

1.¥2

2. %5

3. % 7

4. % 10

Question Number : 152 Question Id : 7532295617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following Sections states that a person can hold the office of director simultaneously in 20 companies?
Options :

1. ¢ Section 165 of the Companies Act, 2013

2. % Section 156 of the Companies Act, 2013

3. # Section 186 of the Companies Act, 2013

4. ® Section 168 of the Companies Act, 2013

Question Number : 152 Question Id : 7532295617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o § fog urT & ug w1 a1 8 f te ufad Ue &1 99 WR 20 HUfal § fRewie &1 Ug 4RI 6% Idhdl 82
Options :

1. ¢ HU-T AT, 2013 BT URT 165

2. % U HAFTH, 2013 BT URT 156

3. % $uAt AATH, 2013 BT URT 186

4. % HU-T HfATH, 2013 DT YRT 168

Question Number : 153 Question Id : 7532295618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Section 67A mentioned in the Information Technology Act, 2000, which of the following is considered an offence?
Options :

1. ¢ Publishing images containing sexual acts

2. % Publishing child porn or predating children online

3. # Failure to maintain records

4. ® Failure/refusal to comply with orders

Question Number : 153 Question Id : 7532295618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LI Tt i, 2000 H SeRAd URT 674 & SR, FHAfied § O f6d T SroRTY 71 T 82

Options :



1. ¢ 9F Sl aTel o UHIRIT Bl
2. % | BT AR Il USRI BT AT S| Db SHTAATS RIBR ST
3. % Yple §90 3=  fawmadr

4. % TR BT YT H 1§ fawady srdipfa

Question Number : 154 Question Id : 7532295619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Digital Signature Certificate comes under requirement under various applications.
Options :

1. ¥ statutory

2. % legislative

3. # parliamentary

4. ¥ biometric

Question Number : 154 Question Id : 7532295619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al SrgoanT & ofaiid ffSled gRaleR UMOU  37Uel & 3faid ST g |
Options :

1. ¥ qUTS

2. % faurdt

3. % gud

4. % 9OHiicH

Question Number : 155 Question Id : 7532295620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Long term assets like brand recognition and intellectual property are:
Options :

1. ¥ intangible assets



2. ® current assets
3. # fixed assets

4. * variable assets

Question Number : 155 Question Id : 7532295620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiTE Tea IR See T ) e JuR, PaRied 3 ¥ e TeR 3 g @
Options :

1. ¥ 3d Yufrat

2. % 1o Ui

3. ® 3fTd Jufi

4. % URgd-g dufai

Question Number : 156 Question Id : 7532295621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the minimum price a business needs to justify remaining in the market in the short run.
Options :
1. # Sunk cost
2. % Imputed cost
3. ¥ Shutdown cost

4. % Historical cost

Question Number : 156 Question Id : 7532295621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 gAdH Y4 ¢ ol U Haud & Tl ferafy # ok H a9 X8 &1 i g $A & o siawass gar g |
Options :
1. % g&d AN
2. % RIFUT ANTd




3. « gHI ANTd
4. % UfagRie anTd

Question Number : 157 Question Id : 7532295622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In cost accounting, 'bin card' is also known as:
Options :

1. % stock card

2. # employee card

3. % salary card

4. # job card

Question Number : 157 Question Id : 7532295622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FWTH@IWﬁ, 'ﬁqm(bin card)‘Wwwmﬁ@ﬁqW%‘?
Options :

1. ¥ €D IS

2. % HUIRI Ble

3. % dad Bl

4. % Glid Bls

Question Number : 158 Question Id : 7532295623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options are correct with respect to the given statements?

Statement A: Sunk costs are not relevant for decision making.
Statement B: Conversion cost includes cost of converting raw material into finished goods.

Options :

1. # Statement A is true B is false.



2. * Statement B is true A is false.
3. ¥ Both statements A and B are true.
4. % Both statements A and B are false.

Question Number : 158 Question Id : 7532295623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U By & ey & FRafafad & 9 o 91 fdee I8t 82

U A: 107 o & 7T gord e o el ¢
HYT B: TUIRUI ANTA H, = AT ! IR AT H SIS Pt anTd Ifeiferd g

Options :

1. % YT A el g B A g
2. % HFYTB TSI 8 AT gl
3. ¢ BYT A 3R B G T8l 3
4. % HYT A R B TAd B

Question Number : 159 Question Id : 7532295624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company incurs a fixed cost of 35,000 to make a single product. Calculate the breakeven point, if the variable cost per unit is X7 and each unit
sells for X14. Take the annual sales demand as 10000 units.

Options :

1. # 3000 units
2. % 5000 units
3. % 8000 units
4. * 10000 units

Question Number : 159 Question Id : 7532295624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUHI T IdTE S & o 235,000 Bt A AT 987 =t & | Al ufd geprs uRad=a anTd 27 81, 3iR Ud® ST & [y e




314 81 Al A g &1 TUHT B | aTiieh fah! AT Y 10000 SHIAT A |
Options :

1. % 3000 3P

2. ¥ 5000 SH1SAI

3. % 8000 IPISAI

4. % 10000 Fh1AT

Question Number : 160 Question Id : 7532295625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit of a company increases by 50,000 when the sales increase from %3,00,000 to ¥4,00,000. Calculate the P/V ratio.
Options :

1. # 0.25

2. % 0.33

3.9 0.50

4. % 0.75

Question Number : 160 Question Id : 7532295625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HU BT bt 23,00,000 T TGHR 4,00,000 BT ST TR Y 250,000 I ST § | P/V ST b1 ITUFT B |
Options :

1. % 0.25

2. % 0.33

3.4 0.50

4. % 0.75
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Question Number : 161 Question Id : 7532295626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the throughput contribution if the cost of direct materials used in goods sold is 15,000 and the total revenues are X23,000.

Options :

1. ¥ 8,000
2. % 215,000
3. % 323,000
4. % Z38,000
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Question Number : 161 Question Id : 7532295626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe S 7T A1 H Ugad Uiel Il & arTd 215,000 SR $d ST 223,000 8, 1 A1GATd (34C) TRTGH & 0T B |
Options :

1. ¥ 38,000

2. % 215,000

3. % 323,000

4. % 338,000

Question Number : 162 Question Id : 7532295627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of Cost Leadership?

Options :

1. ¥ The ability of an organisation to offer market offerings at lower prices, in comparison with its competitors.

2. # The ability of an organisation to provide new market offerings for rarely found items.

3. # The ability of an organisation to offer market offerings at higher prices, in comparison with its competitors using its brand.

4. ® The ability of an organisation to offer market offerings at higher prices, in comparison with its competitors by maintaining good quality.

Question Number : 162 Question Id : 7532295627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Adcd &1 T 3 g2

Options :

1. ¢ 30 UiRUfa Bt a1 & SU&TdHd HH B! O SR FIH TR B3 B U 16 DI &

2. % gy IXG3N & Tl U SR 18 U B Bl Ueb WS B! & |

3. % 30 §I8 BT IYAN HRd gU, 30 Ufaaieil &1 T & 3= H1Ad! IR TR (T8 URd dRA &1 13 P & |
4. % 33! IO §1U 3G g 30 UicRafeial &t gar # S S 1Hd! IR SoIR FH TRgd HR &1 W6 DI &

Question Number : 163 Question Id : 7532295628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Calculate the revenue effect of price recovery by considering two fiscal years 2010 and 2011, if the selling price of a product is X100 in the year
2010 and X115 in the year 2011. Take the actual units sold in the year 2010 as 2500 units.

Options :

1. ¥ 325,000
2. % 328,700
3. ¥ 337,500
4. % 345,600

Question Number : 163 Question Id : 7532295628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1 faxitg auf 2010 3R 2011 R =R HRd U, BIHd TYA b A5 YHTT I TUFT D, Afe a9 2010 H fohfl Iarg b1 fashd e 2100 3R
gy 2011 H 2115 811 a8 2010 H St 775 IRATAD SHIT! DT 2500 SHISAT AN |

Options :

1. % 225,000

2. % 328,700

3. ¥ 337,500

4. % 345,600

Question Number : 164 Question Id : 7532295629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the flexible budget variance, if the actual cost is 32,50,000 and the flexible budget cost is 31,95,000.
Options :

1. # %22,500

2. % %55,000

3. % %1,45,000

4. % 3222500

Question Number : 164 Question Id : 7532295629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IRATAD TRTA 22,50,000 3R AR Fole ANTA 21,95,000 B R A=A Soic FUd1 ST TOHT 1|
Options :

1. # 322,500

2. % 355,000

3. % %1,45,000

4. % 32,22.500

Question Number : 165 Question Id : 7532295630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the efficiency variance if the actual quantity of input is 150 units and allowed budgeted quantity of input is 65 units. Take the budgeted
price of input as X500.

Options :

1. % 353,750
2. % 332,500
3. ¥342,500
4. % 75,000

Question Number : 165 Question Id : 7532295630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gIYC ! ARATAD AFT 150 e, 3R ITYE Bi FoIc I T 65 T B W, G&IdT faaa &1 T0HT &< | §TYC BT Joleid e 2500 A |
Options :

1. % 353,750

2. % 232,500

3. ¥ 242,500

4. % 375,000

Question Number : 166 Question Id : 7532295631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following commands is correct to quit or exit from Tally?
Options :

1. % Ctrl + X

2.9 Cul +Q

3. % Ctrl + B

4. % Cul+ A

Question Number : 166 Question Id : 7532295631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o O HArS, 2o B a1 399 J1eR e & forw I8l 82
Options :

1. # Ctrl +X

2.9 Cul +Q

3. % Ctrl + B

4. % Ctrl + A

Question Number : 167 Question Id : 7532295632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following commands is correct to copy text from Tally?
Options :

l. % Ctul+C

2. ¥ Ctrl + Alt+ C

3. % Ctrl +V

4. % Ctrl + Alt+V

Question Number : 167 Question Id : 7532295632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 3 19 Hafs, ol § TRe HIUl B & T Jg1 82

Options :



1. ® Ctl+C
2.¥ Ctrl + Alt+ C
3. % Ctrl+V
4. ® Ctrl + Alt+V

Question Number : 168 Question Id : 7532295633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gross profit is the difference between:
Options :

1. ¥ net sales and cost of goods sold

2. % PAT and dividends

3. # net sales and cost of production

4. ® net sales and direct cost of production

Question Number : 168 Question Id : 7532295633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JHddHy  H AR e gl
Options :

1. ¢ fad faept 3R &9 7¢ A1 BT AFTd
2. % HR-UATT ATH TR ATH

3. % F9q fospt SIR ITEH v

4. % Fyae 91 SR IdTe Bt Ugal ANl

Question Number : 169 Question Id : 7532295634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recording of capital contributed by the owner as liability ensures the adherence of principle of:
Options :

1. # double entry



2. # going concern
3. ¥ separate entity
4. ¥ materiality

Question Number : 169 Question Id : 7532295634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eﬁ(owner)mﬁﬁ@ﬁm%??qﬁaﬁmi$mwwmﬂm%|
Options :

1. ® gl ufafee

2. % AW Yfdss™

3. ¢ JUYSH G

4. % Yiaed

Question Number : 170 Question Id : 7532295635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A journal is a:

Options :

1. ¥ book of original entry

2. % classified summary of all transactions
3. % permanent record

4. % second book of entry

Question Number : 170 Question Id : 7532295635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Th BTl

Options :

1. ¢ 71 ufafd &t a8

2. % U} TFICH! BT T fdd AR




3. % QT Rprs
4. % ygfafee Pt gO §8

Question Number : 171 Question Id : 7532295636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The method of pricing inventory where all items are assigned the same unit cost is called:
Options :

1. # LIFO

2. # FIFO

3. % average cost

4. # base stock

Question Number : 171 Question Id : 7532295636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gdcdl BiAd-FyRor o1 faftr Sl @it 7Sl &1 T g1 3o NI SMdfed Bi ol s, Pgadi ol
Options :

1. % TASMSUHSH (LIFO)

2. % THIRUBS (FIFO)

3. ¢ 3{Id ARTd

4. % 3MYR Kb

Question Number : 172 Question Id : 7532295637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JOJO Ltd uses a periodic inventory system. The opening inventory was 350,000 and year-end inventory was 360,000. Purchase of goods and
sales during the year were 22,00,000 and %3,00,000, respectively. The company’s cost of goods sold during the year is:

Options :

1. % %2,00,000
2. % %1,90,000
3. % 1,50,000



4. # %1,40,000

Question Number : 172 Question Id : 7532295637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el fafires ue 3mafiies sded) Uummelt &1 IUTHT Bl 8 | URfNE 39 250,000 Y 3R I8 & 3id BT 39 260,000 | I8 B SR
AT 1 WG 3R It HH: 22,00,000 3R 23,00,000 N1 T & SR HUHT & S T ATA Bt AT [Ha-t g2

Options :

1. % 22,00,000

2. ¢ 21,90,000

3. % 21,50,000

4. % 21,40,000

Question Number : 173 Question Id : 7532295638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Star Ltd purchased a machine for 310,000 on 1st April 2010. Depreciation is provided @ 10% on WDV method. The depreciation provided on
the machine in 2011-12 FY is:

Options :
1. % %750
2. %3900
3. % 21,000
4. % %1,900

Question Number : 173 Question Id : 7532295638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wR fAfes = 1 38 2010 BT 210,000 H TH AR WIS Heag™ s@fciRad 8! oo (WDV) UGHd & SR 10% B & J ST STl
g1 faxfia ot 2011-12 & 7=iF W & m a1 geoe fan 82

Options :
1. ® X750
2. %3900




3. % 31,000
4. % 21,900

Question Number : 174 Question Id : 7532295639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

1. ® Compensation errors cause a mismatch in the trial balance.

2. ® Error of the principle affects the agreement of trial balance.

3. # Omission of recording of a transaction from the books affects only one account.

4. ¥ Recording a transaction at an amount which is totally different from the actual amount does not affect the agreement of trial balance.

Question Number : 174 Question Id : 7532295639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAffla d I P T HFYTIa 82

Options :

1. % e Ffear Y Teor § SREAT &1 HROT S g

2. % Rygia &1 FfC A0 TRAem & rgae B I HRall 5|

3. % SRl § Tl AF-¢9 Dl 3ol R H g J Had U WIdl THIfad i |

4. ¢ T3 TF-39 1 I U TR &S] BT ol AR A F T aRE T ST &, AN URIEf07 & 3 P gu1fad T8l dxal o |

Question Number : 175 Question Id : 7532295640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the present value of 220,00,000 receivable 50 years from now, if the discount rate is 12%.
Options :

1. ¥ 32,690

2. % 39,620

3. % 36,920



4. % 39,602

Question Number : 175 Question Id : 7532295640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BT DI AR 12% g, Al 3F F 50 Y qIE U 220,00,000 &F T Hed BH1 T BifoTd |
Options :

1. % 32,690

2. % 39,620

3. 936,920

4. % 39,602

Question Number : 176 Question Id : 7532295641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is the amount that can be realised if the firm is sold as an operating entity.
Options :

1. ¥ going concern value

2. # liquidation value

3. * market value

4. % intrinsic value

Question Number : 176 Question Id : 7532295641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 IRIg R, wH ) te uRanfid 3o1E & U H 91 W U T o 9hdar g |
Options :

1. ¢ FAH-UIdSH G

2. % TR ged

3. % dVIR H

4. % AR Tl



Question Number : 177 Question Id : 7532295642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Meera planned to purchase shares of TMC Ltd. She got to know that the expected dividend per share is *20.00. The dividend is expected to
grow at 15% per year. If the price per share at the time of buying is X100.00, then calculate the expected rate of return.

Options :
1. # 34.33%
2.9 35%
3. % 20%
4. % 35.77%

Question Number : 177 Question Id : 7532295642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRT A Frerd) forfies & R Wiien &1 a1 9418 | I UdT =ra b ufd [aR Srféra anHir 220.00 B 1 A4 Ufd ay 15% &1 X F g
o1 Irfie 31 Ife Tied 9T Ufd R &t S19d 2100.00 §, O Ufdhd o1 3Afdd ar &t TuHT Sifve |

Options :
1. % 34.33%
2. % 35%
3. % 20%
4. % 35.77%

Question Number : 178 Question Id : 7532295643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is INCORRECT?
Options :

1. # The purpose of funds and timing of funds should be determined using techniques like budgetary control and long-range planning by the
finance manager.

2. % The finance manager determines the proper mix of procuring funds.

3. % Financial analysis does not help us in accessing how effectively the funds have been utilised but identifies the method of improvement.



4. ® The finance manager is required to interact and carry out negotiations with financial institutions, banks, and public depositors.

Question Number : 178 Question Id : 7532295643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & ¥ &1 91 YT 7ad 82

Options :
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Question Number : 179 Question Id : 7532295644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT?

Options :

1. #® Investment in long term project should be made after capital budgeting and uncertainty analysis.
2. % Projects which give reasonable returns should be selected.

3. ¥ The return should be high enough as to distribute reasonable dividends but not to retain adequate resources for the company’s growth
prospect.

4. ® The optimum dividend pay-out ratio ensures that shareholder’s wealth is optimised.

Question Number : 179 Question Id : 7532295644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 oF 91 Sy Tad 52

Options :
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Question Number : 180 Question Id : 7532295645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analysis of standalone risk is done through analysis.
Options :
1. ® market risk
2. % corporate risk
3. ¥ sensitivity

4. ® competitive risk

Question Number : 180 Question Id : 7532295645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THd SIRIH (standalone risk) BT IRTOT fazoiyor & Are @ frar ST B |

Options :
1. * SR HIfgA
2. % T wifaw
3. gufedl
4. % yferegefate SiRaw
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Question Number : 181 Question Id : 7532295646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manju Ltd. issued 10,000, 10% debentures of 100 each on 1 April. The cost of the issue was 325,000. The company’s tax rate is 35%.
Calculate the cost of debenture if issued at a premium of 10%.

Options :

1. ® 6.67%
2. % 6.05%
3. % 5.12%
4. % 9.8%

Question Number : 181 Question Id : 7532295646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A9 faffcs 3 1 3d &I Ud® 2100 & 10,000, 10% fSTR SIRY fhT | SR & @1 AT 225,000 At 0T BT IR G 35% 81 10% B
Ty R SRt fopT oM R fSeaR &1 @FTd &bt 0T Hifog |

Options :

1. % 6.67%

2. ¥ 6.05%

3. % 5.12%

4. % 9.8%

Question Number : 182 Question Id : 7532295647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct model from the options which has the following assumptions:

1. The firm has a perpetual life.
2. Tax does not exist.
3. The cost of capital for the firm remains constant and it is greater than the growth rate.

Options :

1. # Walter Model

2. % Gordon Model

3. # Residual Model

4. % Miller Modigliani Model

Question Number : 182 Question Id : 7532295647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfaRad Araarel ard fadwedl | T Tal Hisd &1 99+ PIoIe:

1. T BT MY Siia graT g |

2. FR TG gIT &

3. Y & forg ot &t aTd FRR &< § 3R U8 9fg R ¥ 3ifdss gt 8
Options :

1. % gleex Higd

2. ¢ T Higd




3. % Wiigsd disd
4. % R Aifefer area

Question Number : 183 Question Id : 7532295648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sakashi Ltd has a machine which has become obsolete. The value of the machine in the books stands at ¥20,500. The organisation sold it as a
scrap for ¥2,200. What journal entry should be passed in the books of Sakashi Ltd?

Options :
1. # Machinery a/c Dr 20,500

To Depreciation a/c 18,300

To P&L a/c 2,200
2. % (Cash a/c Dr 2,200

Depreciation a/c Dr 18,300

To Machinery a/c 2,200
3. % Cash a/c Dr 2,200

P&L a/c Dr 18,300

To Machinery a/c 20,500
4. % Machinery a/c Dr 20,500

To Cash a/c 2,200

To P&L a/c 18,300

Question Number : 183 Question Id : 7532295648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
grepTRft forfiies & o Ue A=i B S sroraferd 81 718 /| Sfea § =i &1 Hed 220,500 B 1 W18 A 39 22,200 § HEI8 & U H 941
eRh fafies @t afedl § -3 SHa wfafy uia &1 S arfgwe

Options :




1. % 9@ 7RI |@rdT 20,500
STHT Hedg 4 MMl 18,30

STHT TTH-BTH |@TdT 2,200
2. % 9M¥ el W@rdTl 2,200

T8 GeggY |l 18,300

SHT AR W7 2,200
3.« W ddHel |@1dT 2,200

AT SATH-8TH JTdT 18,300

SHT AR WA 20,500
4. % T8 AR WIET 20,500

ST el @TdT 2,200

STHT TTYH-BTH W1 18,300

Question Number : 184 Question Id : 7532295649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simonji Ltd wants to purchase an existing partnership firm M/s Rawat& Sons for ¥50,00,000. What journal entry will be passed in the books of
Simonji Ltd to record the purchase consideration?

Options :
1. ¥ Business Purchase a/c Dr 50,00,000

To M/s Rawat& Sons a/c 50,00,000
2. % M/s Rawat& Sons a/c Dr 50,00,000

To Assets a/c 50,00,000
3. # Cash a/c Dr 50,00,000



To M/s Rawat& Sons a/c 50,00,000
4. # Liabilities a/c Dr 50,00,000

To Partner’s Capital a/c 50,00,000

Question Number : 184 Question Id : 7532295649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrgAS oIS U Hiviel Wit B AR rad U T &1 250,00,000 H WG 18 8 | 560 UTAWhd Bl gof R & o1T JrgHoll
faftee o afedl & @4 Ut S+a ufafd uivd &t Smeet?

Options :

1. ¢ A0 G 63 Wl 50,00,000

SHT A9 J9d TS TG @I 50,00,000
2. % 8 A9 J9d TS TG WIdT 50,00,000

ST g Ul @rdT 50,00,000
3. % 9 AHS WidT 50,00,000

SHT A9 J9d TS TG @I 50,00,000
4. % TR ST QT 50,00,000

ST WRIGR &1 Gl WIdT 50,00,000

Question Number : 185 Question Id : 7532295650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram bought a machine for 345,000. He spent 33,500 as freight, 32,000 as installation cost initially, and X500 on regular repair after a month. At
what value shall he record the machine in his books?

Options :

1. #¥ 349,000
2. % 351,000
3. ¥ 350,500
4. % 247,500



Question Number : 185 Question Id : 7532295650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M A 245,000 7 T TR WIS I YIS T HTS & =0 H 23,500, RITYAT AT & TG | 2 2,000 3R T A & 91¢ Haiia
TRI W 3500 T hT| T fhd Heg IR 7RiH &1 3o afgdl & Sfferiad deae

Options :

1. # 249,000
2. % 351,000
3. ¥ 350,500
4. % 347,500

Question Number : 186 Question Id : 7532295651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Financial statement analysis begins with:
Options :

1. # ascertaining the financial ratios

2. ¥ extracting the data from financial reports
3. % checking the gross profit figures

4. ® checking the auditor’s credentials

Question Number : 186 Question Id : 7532295651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfofdRufaemor. IgEgars
Options :

1. % fa<ii SUTdl &1 udl @

2. ¢ fa<ita Rl 9 et et

3. % THd AYH & MBS Bl S HA

4. % AT RIEH & TAT-TA DI S HA



Question Number : 187 Question Id : 7532295652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is ideal current ratio?
Options :

l.%1:2
2.%1:1
3. 021
4. % 2:3

Question Number : 187 Question Id : 7532295652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=faRad & I F 1 3Mexf are 3urd 82
Options :

l.% 1:2
2.% 1:1
3.02: 1
4. % 2:3

Question Number : 188 Question Id : 7532295653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use the given information and calculate inventory turnover ratio.

Revenue from operations = 380,000
Average inventory = 210,000
Gross profit ratio = 20%

Options :
1. # 8 times
2. % 6.4 times

3. % 1.6 times



4. % 2 times

Question Number : 188 Question Id : 7532295653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1T STHHRY BT ITANT B3 3R Wi Tad SHIATd &1 T B |

TRETAA! ¥ XSG = 280,000
3Id Wb = 210,000
Tohdl A SUTd = 20%
Options :

1. % 8T

2. ¥ 64T

3. % 16T

4. % 2T

Question Number : 189 Question Id : 7532295654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what specific ways can a company differentiate its products or its marketing offer? Select the right combination.
Options :

1. * Product, services, channels, people or image

2. # Services, convenience, performance, channels or image

3. # Product, features, performance, channels or people

4. ¥ Features, performance, style or design

Question Number : 189 Question Id : 7532295654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U oo ARy ai®! ¥ 39+ IdTG! a1 39 fauuH TRaTd & 3fck & A« 82 Tl Yo gHg|
Options :

1. % IdTe, JATT, o=, a1 a7 Bfa




2. % AT, AU, FRVCRH, I4d a1 Bfd
3. % JdTE, YAUTE, HRVGRH, - a1 AN
4. ¢ FfAYTE, HrAUGRH, Aah a1 feorea

Question Number : 190 Question Id : 7532295655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The goods that are long-lasting and facilitate the development and management of the finished product are called:
Options :

1. # speciality goods

2. % durable goods

3. # materials and parts

4. ¥ capital items

Question Number : 190 Question Id : 7532295655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d Y ST A TG 0% Ia- aTd 81d & SR daR SdTE & [dhr 3R TeeH &1 gfaem UaH axd &, FHEA ¢ |
Options :

1. ® o= 9mEmE
2. % RPH1S IHH
3. % QA 3R gof
4. ¥ GoINTd a¥U

Question Number : 191 Question Id : 7532295656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stage that helps select good ideas and de-select the poor ones is known as
Options :

1. ® marketing strategy development

2. % idea selection



3. # idea generation

4. ¥ idea screening

Question Number : 191 Question Id : 7532295656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 RN S 3= Taami &1 90 P 3R WRIS T HI E S H T dRle, b XY H SIS gl
Options :

1. % fquur uRd famre

2. % {dOR 9=

3. % faaR Idf

4. ¢ f0AR Srdiemr

Question Number : 192 Question Id : 7532295657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XYZ & Co. enjoys a higher level of profitability and market share as compared to its peers operating in the same industry. It is found that a
skilled and committed workforce is one of the factors that led XYZ & Co. to achieve this position. Which of the following advantages is being
enjoyed by XYZ & Co?

Options :

1. # Absolute advantage

2. ¥ Competitive advantage

3. % Comparative advantage

4. # First Mover advantage

Question Number : 192 Question Id : 7532295657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIATSoS U8 &. (XYZ & Co.) THM ITNT H URATE R I8! U T EN Huf-al &t ga- § 3o Wik &I arHvedT 3R ol feeR
&1 WGl 361361 & | T8 U AT § foh Th HId 3R Uidas Hriad 3 HRP| H Y U ¢ o Tadzeis U8 &. &I 39 T &l ure
B P o0 SRR 51 B | Taarseis Us &. FFufefad & § fg vy o1 Braer 331381 82

Options :




1. % foRuer ATy
2.« Jfaueias ary

3. % qaTHD AT
4. % UYH Ydddd o1y

Question Number : 193 Question Id : 7532295658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an organisation encourages work-related discussions even in premises other than the office, what kind of learning is it trying to facilitate?
Options :

1. # Programmed learning

2. % Informal learning

3. # Simulated learning

4. % Vestibule training

Question Number : 193 Question Id : 7532295658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BIS o Srtad & arar 3= URER § off Sri-aieh aaisfl &) iafed ol 7, 1 98 [0 TSR & iR & i a9 &I
TR R G 62

Options :

1. % GroTes STTH

2. ¢ SFEURSG 3iferTH

3. % U ey

4. % qRTsgd e

Question Number : 194 Question Id : 7532295659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An organisation is planning to set up a multi-step organisation-wide goal setting and appraisal programme for its employees. Which of the
following appraisal techniques should it adopt?

Options :



1. # Conversation days
2. # Electronic performance monitoring
3. ¥ Management by objectives

4. ¥ Behaviourally anchored rating scale

Question Number : 194 Question Id : 7532295659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG 3 HHARAT & forg U sg-arufiy Wre--aardt deg HuRRor 3ik Jedier SrisH R B @) Ao s 6T 8 1 39
frafeid & § &1 T qeid e+ U= agy?

Options :

1. % graram feaq

2. # AGRIHD HIY-FIG FIRHT

3. ¢ 3l & gRI Ueed

4. % GGG ¥ Y P eT Thd

Question Number : 195 Question Id : 7532295660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PAQ is one of the popular quantitative job analysis tools. What does PAQ stand for?
Options :

1. # Personnel Analysis Questionnaire

2. # Pay Analysis Questionnaire

3. % Performance Analysis Questionnaire

4. ¥ Position Analysis Questionnaire

Question Number : 195 Question Id : 7532295660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUR] (PAQ) HHTHS BT fAeTUT &1 Ueh A0 W1 g | PAQ T YUl =0 1 82

Options :



1. # Personnel Analysis Questionnaire (tlﬁ:lﬁ Qqﬁﬂ aéﬁﬁa?)

2. # Pay Analysis Questionnaire (ﬁ Q:m%‘lﬂ W)

3. ® Performance Analysis Questionnaire (GRWBIHT TAITCRT GARTER)
4. ¢ Position Analysis Questionnaire (TSR TAITCIY FATI-R)

Question Number : 196 Question Id : 7532295661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As an HR business partner, what should NOT be your area of focus in terms of managing human resources in an organisation?
Options :

1. # Evolution of organisational culture

2. ¥ Only prioritisation of initiatives, but not implementation

3. # Converting strategy into action

4. % Diagnosis of organisational bottlenecks

Question Number : 196 Question Id : 7532295661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TR AGHI® FGR & %7 H, [t TiTe- H AHa G181 & Ud8= o HHd H U] & g &9 | 781 g1 diigq?
Options :

1. % TISAIHD HIPHd & il fdbrd

2. ¢ BRIBHHI BT Had UTIHD 1B, Afs feharaa— T8t

3. % UM DI HRATS H TGl

4. % SATHS u13fi & Fem

Question Number : 197 Question Id : 7532295662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is understood as the experience that an individual brings to an organisation in the form of knowledge, skills, abilities and
values that he accumulated over time?

Options :
1. ® Attitude



2. % Beliefs
3. % Human capital
4. ® Social capital

Question Number : 197 Question Id : 7532295662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frd 39 sva & U T THI SI1dT & ol U fad fohd! SiTa- H 4, DI, TRgdT 3R Jedi & U H ardl g o 394
qHg & 1Y IR frar g

Options :

1. % gy

2. % YRUM

3. ¢ HHd Yuit

4. % rETSTH Goit

Question Number : 198 Question Id : 7532295663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With respect to stress interviews, which of the following conclusions CANNOT be drawn from the given set of options?
Options :

1. # Sensitive applicants can be traced with the help of these interviews.

2. ¥ Stress interviews are ethically clear in nature.

3. # Besides mental ability, puzzles can also test the ability of a candidate to handle stress.

4. ® They are commonly meant for hiring sales and customer care professionals.

Question Number : 198 Question Id : 7532295663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfaaferd TIEMH R (stress interviews) & Tae H, FafaRad & § o a1 fsed 3w 7 faswredi & Je T 78 FepTer S Ioar g2

Options :
1. % 39 TITPRI B! Aee T AT HTacah! T Udl ST S bl § |




2. ¥ Fiaferd el R Uhid | Afdd 0 I ¥ gid g |
3. % HFRID &HdT & 3rrdr, Ugferdr Hi it IWicar & T=1a & THTAH P &FHdT BT URI&UT B Tball o |
4. % 3 IR R fapt 3R Ugh AT URIGR] Bl HTH WR WG & U gld &

Question Number : 199 Question Id : 7532295664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following employee development programmes does NOT seek to improve interpersonal skills among trainees?
Options :

1. # Behaviour modelling

2. # Interaction management

3. # Imitating model

4. ¥ Management games

Question Number : 199 Question Id : 7532295664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 3 @ W SR faem sried uligsi & o9 siqdafadd o IRial § gUR M &1 T Tl ol 82
Options :

1. % dgR YfcR=uul

2. % SrAfhal Ueie

3. % 3HRUY AT

4. ¥ U W

Question Number : 200 Question Id : 7532295665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the opening and closing balances of debtors are 50,000 and %1,00,000, respectively, and the receipts from the debtors are X20,000, what is the
credit sales made during the year?

Options :
1. % 350,000
2. ¥ 370,000



3. % 280,000
4. % %1,50,000

Question Number : 200 Question Id : 7532295665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬂagw&ﬁ%aﬁ?&ﬁﬂﬁﬂm: 250,000 3T 21,00,000 B, 3R TERY T WIftrt 220,000 &, T a8 o SR 1 TS FHUT IYR
T ]2

Options :

1. % 350,000
2. % %70,000
3. % 380,000
4. % %1,50,000



